UG-A-348 BAF-11

U.G. DEGREE EXAMINATION - JUNE 2021
ACCOUNTING AND FINANCE

FIRST YEAR
FINANCIAL ACCOUNTING
Time: 3 Hours Maximum Marks: 75
PART - A (3 x 5 =15 Marks)

Answer any THREE questions.

1.

Write down the various concepts of accounting.

uOGaum sarsdle CarlLim(haemer 61(LRSHISb. .

Ramu owned to Krishna Rs. 12,000 on 1.1.2009 on the same date Krishna drew
upon Ramu a bill for the amount at 2 months and Ramu returned the bill duly
accepted. Krishna got the bill discounted at his bank at 6% pa. Before the bill
was due for payments Ramu told Krishna that he was not able to pay the full
amount and requested Krishna to accept Rs. 4,500 immediately and draw upon
him another bill for the remaining amount for two months together with interest
at 8% pa. Krishna agreed. The second bill was duly met. Give journal entries in
the books of Ramu and Krishna.

1.1.2009 <jemm grp ereniiel Smegentt eramehd@ S5 Ceuanriqwig) ap.12,000, 91Cg Cadluded
magentr grp B8 DS0STNSEEE 2 TS FeuamenTuilled e LIHMIF F L eTPHQNTT. Dens FTLp
ghms Qarar® Hpud Siaylifermi. obwrpné f e magentt cumbduld <, (H&EE, .6 erer
semepUlg QEwgsTr. borpmg Flignarer srob (pgeugn@Ger rry Smeyammeil b SHCUTE
FA@MTL (PPS QsTenswd Sr wiywrg eramd sHCurg 5.4,500 smeug erenmid Weparar
Qgrengemi <T@ 5.8 cul_igu|L e Cargg) 2 g rHmé & QL Teramn Hmé QamareusmaeLb
Fadleri. Sieng SHmeyem FHms Qsrermr. @Qbs G rarrLTeug LIHMEF S5 SeumanTd STasS
penwrs QessLil L g pmip womib Smeayamrralen er(Hsatcd @GHUGCUL(H Lo samar ms.



Calculate insurance claim from the following facts assuming that the insurers
met their liability under the policy on ‘average basis’. A traders stock valued at
Rs. 40,000 was totally destroyed. The stock in the godown, was insured for Rs.
30,000 subject to average clause. The balance of stock, left after fire, appeared in
the books at Rs. 24,000.

Epsramid eleurmsefadmbg srilSlLrert, grrefl srdder oiglineuld, ser QuUmmLiLg
Qgrensenws  smADTT  ererm  owssHed, &TUELEH Carllsmsmws  saTLdlE. e
flwrurfluldwBlmbg 540,000 wllyerer sr&E Wpaugib Cagwelbsgl. SLmdd Qmbs)
s1&@  5.30,0008@ urdldl erhssiul(ererg. Cssenlbhs &rsSlmluder wSHiy  grref
grsdleniiy, seuadlLLiuLajdrarg SHulammed CegwaLbs srsms s6lly o4 BHO(HHS Frddlen
gl a.24,000 p@ib.

On 1st January, 1992, a company purchased Rs.12,000 and on 30tk June, 1993 it
acquired additional machinery at a cost of Rs. 2,000. On
31st March, 1994 one of the original machines which had cost of Rs.500 was found
to have become obsolete and was sold for Rs.50. It was replaced on that date by a
new machine costing Rs.800. Depreciation to be provided at the rate of 15 per
cent per annum on the written down value. Show machinery Account for the first
three years.

1.1.19926> epm Hlmicuenid ¢m.12,0008@ Quibdrsans curmidlug. 30.6.19936 m2,0008@ Cuoaiid
@ Qubdlrseans eurmdlwgl. 31.3.19946 wseiled eurmisliul L. @uibSlrsser @500 wliLerer
e UmpwsTd el gre r.508@ alpsiulLg. 96 Csduler Ldu Qubsrd et
5.8008@ eurmisliLlLgl. GonbEbsd @il wanuid Cslinrard ywamhsEE 15 ssaisb
RIEHGS. (PSD PG AT (HNEEHES QUIBST Sewrsans SWmT ClFlis.

On what basis the following are to be apportioned in departmental accounts?

(a) Workmen’s insurance.

(b) Power.

(c) Carriage inwards.

(d) Repairs to building.

(e) Workmen’s welfare expenses.

DS SETEGSET ) SPESEMTLcUDHEND 6TEH6T g LI LA a16E0H QelieSTaar

(o) Qamferent il
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) Wenssd Hmei

Q) 2aTg&E el

) Sl SEDEE LWEILTTED

2 ) Q@smlemeri hever FTihs ClFae|sHerT.

PART -B (4 x 15 = 60 Marks)

(
(
(
(

Answer any FOUR questions.

6. Ganesh book shows the following balances. Prepare his trading and profit and
loss account for the year ended 31st March 1995 and Balance Sheet as on that

date.
Particulars DI;:.E CI}'%eilt

Stock (1.4.94) 15,000
Purchases 13,000

Sales 30,000
Carriage inwards 200

Salaries 5,000

Printing and stationary 800
Drawings 1,700

Sundry creditors 2,000
Sundry debtors 18,000
Furniture 1,000

Capital 25,000
Postage 750

Interest 550
Machinery 4,000

Loan 3,000

60,000 60,000
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Adjustments :

(a) Depreciate Machinery by 10% and furniture by 5%.
(b) Allow interest on capital at 5%.

(¢) Provide 5% for bad and doubtful debts on debtors.
(d) Stock on 31.3.95 Rs.12,000.

sCamreiy o (haefedl(mba emaumnd @mULser er(hssliulLear. 31.3.95 CaHCwr® wpigeuenl_bHS
Qg HE eWTUTy wHMID @TL Bl L& Sardanssd st g AnsCsHulldr o ereriig @\mLiy
Blenawd @mlLGenarybd swrilés.

Nleurmiger ubm Qe
(- (-
sr&dmuiy (1.4.94) 15,000
QaETeT(LpSHD 13,000
el LIene 30,000
2 ETG16 &S Fnedl 200
FLDLIGTLD 5,000
&GS FaeOIWLD 6T (L1l LIT(TH(EHLD 800
er(hiy 1,700
SLATBGSTTEET 2,000
sLarefl&eT 18,000
LD TS Gl emamTL 1 Ol LIm(BeT 1,000
Ps® 25,000
UM QFeva] 750
aullg 550
QupbSlrid 4,000
S 3,000

60,000 60,000
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gf&aL L evger .

(o) Csworand Quibdlrsder S5 10 sseisbd, weear gl Qummeller g 5 gseisb
SIS &S

() s Bg ity 5 gg6ish Siainglés

(@) sLamafllsdr g eurprésLe HmID BUESL@IESTS 5 s568LD ¢8I15ES

(m)  epsfmiy (31.3.9501) e.12,000.

The receipt and payments account for 2013 of a Recreation club is given below :

Receipts Rs. Payments Rs.

To Donation 5,000 By Salaries 10,000
To Life 1,800 By Rent 11,500
membership fee
To Entrance fees 2,500 By Furniture 1,000
To Subscription 6,750 By Electricity 600
To Canteen 25,00 By Canteen 20,000
receipts 0 Purchases
To Journey 4,000 By Journey 1,580
receipts Expenditure
To Other receipts 500 By Telephone 490
To Interest 250 By Bank Balance 1,430
received
To Card room 200 By Cash Balance 400
receipts
To Grant from
Calcutta 1,000
Corporation

47,00 47,000

0
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Adjustments :

(a)

(b)
(c)
(d)
(e)

Donation entirely % of the life membership fees and % of the entrance fees
are to be capitalised.

Subscription received in advance Rs. 500 and outstanding Rs. 1,100.
Rent 2,500 was paid for in advance.

Salaries include an advance of Rs. 600.

Furniture is to be depreciated by 5%.

You are required to draw up an income and expenditure account and
balance sheet.

(% a1 wearpsler 2007 b Yy amhEsTer QuNFD — Cessd &/ @ SCY sriiul(Hdrerg

Receipts . Payments €.
BeTlETenL 5,000 suerd 10,000
<pW|ET 2 Mo 1,800 aurens 11,500
&hHST
HIELPE SL_L_6wTiD 2,500 wenarggienamTL 1,000

@uim(mL_ger
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shsT UMD 6,750 WenGseaay 600

Shmieiry Frened
ELPEOLD
Qupg 25,00 Apmenrg Frened 20,000
0 Qsmerpse
LwenrsEHHeTas 4,000 vwewrs Qe ser 1,580
Quppg)
A QumsSET 500 GsreneCus 490
culig GubHmg) 250 eumdl @@mLiy 1,430
& Siemm 200 Qprés ensullmLiLy 400
QuUmIHEDSET
SOESSHT
rhSFTLHudlib
Bobg Aupp 1,000
wreflwid
47,00 47,000
0

sl QLmSOSET eposaiLIHSs L CeuemHib
(=) Be@sTeanL (WP (eugib e 2 milidert sbsreller % LEGH ey s Larddld /2 LikiE
(=) per Qupp sBam ,.500 eur Geuerigw gbsm en.1,100
(@) eperm TFBIGERSGSETET eUTLens ¢h.2,500 (e QFe)ss 1L (heTerg)
() abuetsdla (e Ggrens er.600 GCarpbgleTerg
(2) weanggiemantt QUG g 5% CHUIDTEILD 68I5HES.
aumeuml HFeilans sarréamai b @mLIL Blaned GmlLienuubd Swmr Clews.

A trader who does not keep a proper books of account gives you the following
particulars :

1.1.2001 31.12.2001

Debtors 5,300 8,800
Creditors 1,500 1,950
Stock 1,700 1,900
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Fixed assets 2,140 1,740

Other Particulars Rs.
Total sales (cash sales Rs.500) 10,000
Total purchases (cash purchases 4,500
Rs.2,050)

General purchases 1,000
Drawings 300
Bank balance (on 31.12.2001) 410
Payments for fixed assets 500

He had drawn goods of Rs.500 for his personal use. Interest on capital at 5% p.a
Prepare trading and profit and loss a/c for the year ended 31.12.2001 and balance
sheet as or that date.

@@ wrumrfl gearg Csmfled BLeugsmsstar 2 flu LHCa(HsmeT MEUSHITSSTED DTS
Qe updlw efleurmsamer SLpseT_curn S mmT
1.1.2001 31.12.2001

SL_erel&er 5,300 8,800
sLBGHTT 1,500 1,950
&T&S (B 1,700 1,900
Blenewiren Qarsgsaar 2,140 1,740
9m eSleurmiger €.
Qurgs elpueman (Qrmés edpuemer er.500) 10,000
Qurss  Qararpsd (Qrrés  Qararpse 4,500
em.2,050)

Quirg) Qgeeyser 1,000
er(HLILI&ET 300
auad @y (31.12.2001) 410
Blenewirer Qersgssmer QeasdwLig) 500
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10.

seng Cerhg o LCWIsESHD&TS 578E T(H558 5.500, epavger, all g 5% amgnE 31.12.20016
(PlgeueL LD ewrigDaErer elwrury @eoru Bl & sars@Gsamerid 24Cs Cadluld @ mLiLy
Blenavd @Ml Genaryb swrilése b

On 1-1-2010, a company purchased 5 machines at Rs.10,000 each. On 1.7.2012,
the company purchased another 2 machines for Rs. 10,000 each and paid Rs.
1,000 for installation expenses. Accounts are closed on 31st December every year.
Annual depreciation rate is 10% on 31.12.2012, the company sold the
machineries purchased on 1.1.2010 for 30,000 prepare machinery account on
diminishing balance method.

1-1-20106 @ Himeuerd ;.10,000 aisb 5 Qupbdrhsedr curbmdlwg. 1.7.20126 Guoaib 2
Qupdrisear seor . 10,000 &isb curmdug. @Qsmer Hlmejcuspster Gsewey . 1,000.
SEOTEHGEHET elbloum parHbd GFbuT 3l (wWigssliul L gl yarhdsrear Galiwred p.10
31.12.2012 & wsgale (1.1.2010 &) eurmdlu Qupdrmsar .30,000 &g OpsiiulLg.
G@enHgI6Fd @ L wennuilld Quibdlr semrsdlanen suiTtlsse]b.

ABC Company invoiced goods to its Delhi branch at cost. The head office paid all
the branch expenses from its bank except petty cash expenses which were paid
by the branch. From the following details relating to the branch. Prepare.

(a) Branch stock a/c.
(b) Branch debtors a/c.

(c) Branch expenses a/c
(d) Branch profit & loss a/c.

Particulars Rs.
Stock (Opening) 21,000
Debtors (opening) 37,800
Petty cash (opening) 600
Goods sent from head office 78,000
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Particulars Rs.

Goods returned to head office 3,000
Cash sales 52,500
Advertisements 2,400
Cash received from debtors 85,500
Stock (closing) 19,500
Allowances to customers 600
Discount to customers 4,200
Bad debts 1,800
Goods returned by customers to 1,500
branch

Salaries and wages 18,600
Rent and rates 3,600
Debtors (closing) 29,400
Petty cash (closing) 300
Credit sales 85,200

<@ BmIb sarg CLcel Heners@ sraGamen L gseillanauied Sieibuig). smaeann
SiQleuesd sargl Slaerlen Sowenn Crress Geweismers (Heaver @&FGCsweasamer srGer
Cequsdwgl) sy 9n Smansg e samerd sTGar sargl eumiSluler epod CFQSHuig.
evarullen EpsearL ellLirhisaer Qame(h), WerelHLd sams@amers swirflése]wb.

Sl) dener Fr&E ST,
<)) dener sLanmellseT sanrs s,

(
(
(@) Slewer Caweyd sewTéHE
(

) Slanem Qe Bl L & SemTdE.
cflupmiseET €.
sr&H (LY (QsTLsa586) 21,000
sLamanaer (Qsr_sss5Hd) 37,800

10
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11.

fvevenm Qrresd (Csr_sssHle)
HEMOENLD D NIeUSHSSH 0 (FHGI Sl(HL1
DAL L T&EGSET

SN DNIEIDSSSHNEG (L
SI@IIUILL L FT&5EGS6T

Qrrés eNpLener

eSlaTLbLIFRIGET

sLametlseaflLO(mhg QubHD Crmrésnd
FT5@s6 (Qmiludcr)

QUG SENEHWITETITS (@h&E, AefEaLL L
Ll Lq-G6iT

QUG HENSEWITETITS @H&E AefEaHILL L
SaT(ELL-

QUITITE SL_GITGET

QUG GEnEHWTaTTS6T LLSI(Hhg) Slenaré s,
S oigiintiul L sr&@ser
FLDLIGTBIGET LOHMILD &n60lS6T

QUTL_6n& LOHMILD auifl&eT

sLametlser (@QmSludlen)

feveweny Grr&sbd (@ miFludle)

sLam Sl HLIena

The following purchases were made by a business house having three

departments : \
Department A — 1000 units
Department B — 2,000 units
Department C — 2,400 units
Stock on 1st January were :
Department A — 120 units
Department B — 80 units
Department C — 152 units

J

600
78,000

3,000

52,500
2,400
85,500
19,500
600

4,200

1,800
1,500

18,600
3,600
29,400
300
85,200

at total cost

of

Rs. 1,00,000

11
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The sales were :
Department A — 1,020 units at Rs.20 each
Department B — 1,920 units at Rs.22.50 each
Department C — 2,496 units at Rs.25 each
The rate of gross profit is same in each case.
Prepare Departmental Trading Accounts.

geop A — 1000 @@@sdr ™\
gleon B — 2,000 oev@sdr
gleowp C — 2,400 si@sar
soameufl 1-1b BreTenm <y ribus
. Qurgs dloa
Fr&E mLIY Speuom) . 1,00,000
gleowp A — 120 sjo@sar
gleop B — 80 wie@sar

giowp C — 152 sio@sdn /

efpuemer Epeu(mLommy

gleon A — 1,020 sie@sdr genm .20 aisb

glewp B — 1,920 sie@sdr genm m.22.50 eigld

giowp C — 2,496 o@s6r e .25 aisbd

Quwrss @eru s eoorsgimnsalib @MmUISSLTE QMmbSg. gepmairtl  eSlwmumy

searsdlaneng swmilEs.

Describe the different method of recording transactions relating to Joint venture.

eI MET BL6llg S&H@mET ] Lide| CFiuyb el (pansamer 696Té@Es LIVGaml alemEHemel
s pLallg. benL_(Lp )
eurfl.
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UG-A-348 BAF-11X

U.G. DEGREE EXAMINATION - JUNE 2021

ACCOUNTING AND FINANCE

FIRST YEAR
FIANCIAL ACCOUNTING
Time: 3 Hours Maximum Marks: 70
PART -A (3 x 3 =9 Marks)

Answer any THREE questions.

1.

What is Trial Balance?
@mUUTUIS)] 6T63IMBTEL  6T60T60T 7

What do you mean by suspense account?
SINMOSHHIH HEWEHEG 6ITBTE0 61631601 7

What is depreciation?
CHUILOTEIILD  6TEITMBTED  6T60160T

What is closing stock?

QuIHF FrHE 6I6IMBI6L 616016017

What are the principles of accounting system?
HMHGL LHeNuIed (pedmullell HHHIMISET WiTensu?

PART -B (3 x 7= 21 Marks)

Answer any THREE questions.

6.

Prepare a trading account for the year ended 31.3.2008. Opening Stock
Rs.5,730, Closing Stock Rs.8,600, Purchases Rs.1,58,000, Sales Rs.2,62,000
Purchases Returns Rs.900, Sales Returns Rs.600.

31 omftd 2008 oMl (PIQAIHL WD  LewIgBETe  allmuTydh  Hewidbd Humhleds
HloubsF FIEHHUY  05.5,730, DmIFHF FTHG 15H.8600, OQFHmeTIpHeL hH.1,58,000,
alBuemel H.2,62,000 G&TeT(pHs0 SHHULD 0H.900, alBuenen &HUILLD F.600.

Ramu owned to Krishna Rs.12000 on 1.1.2009 on the same date Krishna drew upon
Ramu a bill for the amount at 2 months and Ramu returned the bill duly accepted.
Krishna got the bill discounted at his bank at 6% p.a. Before the bill was due for
payments Ramu told Krishna that he was not able to pay the full amount and
requested Krishna to accept Rs.4,500 immediately and draw upon him another bill for
the remaining amount for two months together with interest at 8% p.a. Krishna

agreed. The second bill was duly met. Give journal entires in the books of Ramu and
Krishna.

1.1.2009 Siim JWLp eILSIT  SlHagewim eaiLamhmbE HTGeusmiiguigsl 512,000, <165
Capgluiled Smagewim Jrup WB&H DAHOHTMHHEEG 2 TH SHeuemewiuled @ IBMIF FLenl
apFHe. SmE I gopISsTeh  HEU  oemitidentiT.  SIbIBBIF  FlenL
SHmagewim  amiSHuled UeIBHG H.6 6160 HeilEpUy OCFUISTT. DOTBBIF FLIgHBSTe
STV  (PYUSBES6T  JIp  Slmegeomellld HBOUTH  Heiiemed (PWH OHTEmSULD
SIPWITHl elepid HBOUTH 54500 HMHEUH 6IHIWID  LEHUP6TEN OHTENHMUW  DLEYBS)
.8 e uiLenr BGFTdhal 2 1re WIBBIF FLOLTEmB gBmied CETeTaISHTHEOD  Fnml6ul.
SWSH  HHOGWIT  GWbmlids  CsETewiLmT. @bsd EAJewiLmeughl LMBBIF FLB  Helanend

1 UG-A-348



10.

BHTVHH60 (LPemBULTH OFeISHSLILLLF. JTAP BBID Hmagewmelst ehoeis0 @GUICUL (B
USHeBneT  H(Hb.

Ambitabh keeps his books under single entry system. Assets and liabilities on
31.12.2012 and 31.12.2013 stood as follows.

31.12.2012 | 31.12.2013
Cash 100 2,000
Bank balance 90 10,000
Stock 7,000 10,000
Debtors 15,000 20,000
Furniture 3,000 3,000
Creditors 3,000 6,000

He introduced an additional capital of 3,000 during 2013. He withdrew Rs.7,000
for his domestic purpose.

IOSHTL  eTeoNT  @@Bewml UHCoul 1960 Ly  HeWFHI HwIbGHBEMET  LIFTLOMNSHSBTT.
31.12.2012 wmmd 31.13.2013&5T60 DeUTH OFTHHIHH6T OBBID GUTBILILEeT 6L
Q@BTBHHBLILIL (H6IT6T6.

31.12.2012 31.12.2013
Qyma LD 100 2,000
QUBISUT(HLIL 90 10,000
FIaHS LI 7,000 10,000
HL_6uT6Y| 6T 15,000 20,000
LOGDENT HGHIM60T  OILIT([HL_&61T 3,000 3,000
BLeRBOHT 3,000 6,000

2013 ob e oWeTa CuriL  amBHev (1w Hellsi &I h.3000 el (BHs
Carmaudbats ap.7000 QHmPedled @RmbEH 6iHSBILLLG. 2013 D  LEWTIQBSHTEN
6UMLILD  SH6mTad a5 (Hb.

On 1st January, 1992, a company purchased Rs.12,000 and on 30th June, 1993 it
acquired additional machinery at a cost of Rs.2,000. On 31st March, 1994 one of
the original machines which had cost of Rs.500 was found to have become
obsolete and was sold for Rs.50. It was replaced on that date by a new machine
costing Rs.800. Depreciation to be provided at the rate of 15 per cent per annum
on the written down value. Show machinery Account for the first three years.

1.1.199260 @@ mipeuetd ¢p.12,0006@ QPuIbHIHmsd eutmsuwgd.  30.06.199360
.2,0005& GBuoed @m SubsHTHmed  eutmdSlwg .  31.3.199460  (1pHedle0
amRISLUUL L QubHTHaHed  H.500 HLeTen  @6ImI  UMWSHTS il L HT60
.506@ elBpsiulLg. 465 Bhamulsd yHw QubSHID @i}l  h.8005G
QAMRIBLULLL &l GHoBhHH a0 Smiy (weowpulsd Gapuiomerd peibdHg 15
FHAHD QHIHGHB. (PHV CPIMl BB EHSEGH DBUHSHT SHewibend HWTT OCFUIS.

On what basis the following are to be apportioned in department accounts?

a. Workmen’s insurance b. Power c. Carriage inwards
d. Repairs to building e. Workmen’s welfare expenses.

HOBEH  HMHGHHOMNED — HHHWILUBOB  61H0T  SglienLufled  HHBH

CFwiaiTaeiT?
Y Qsmleomenit &riLi(H S WeiiFshd SHmer
a. o GFHNHG n6d FF. SLIPL HHBG LIH UTTHFH60

o . Osmbeomenit Hevedl &Fibhsk Cl&Feva|Hei
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PART - C (4 x 10 = 40 Marks)

Answer any FOUR questions

11.  Ganesh book shows the following balance. Prepare his trading and profit and Loss
Account for the year ended 315t March 1995 and Balance Sheet as on that date.

Particulars Debit Credit
Stock (1.4.94) 15,000
Purchases 13,000
Sales 30,000
Carriage inwards 200
Salaries 5,000
Printing and stationary 800
Drawings 1,700
Sundry Creditors 2,000
Sundry Debtors 18,000
Furniture 1,000
Capital 25,000
Postage 750
Interest 550
Machinery 4,000
Loan 3,000
60,000 60,000
Adjustments:
a Depreciate Machinery by 10% and furniture by 5%

b. Allow interest on capital at 5%
c. Provide 5% for bad and doubtful debts on debtors
d. Stock on 31.3.95 Rs.12,000

&Camiey  ghBellelphbdH  Lleiiumd  @@LyseT  eihdsUULLer.  31.3.95 CxaCwr(
WPYAIMLHH PewlgB@ ellwmumy wBpid et BLLE SHSHmBH SWTT  QFUISH
HCHHUleL 2 eitenig LY Hewevd Gmulemenuyd suwimflébs.

el eURISH6IT sLemmellsel | SLeHEHTT
FyHH MmUY (1.4.94) 15,000
OBMeIT(LPH6L 13,000
lMBLIEN6 30,000
2 _GMETHGHD Fn6l 200
FLDLIGTLD 5,000
INFFH FnedWD 61101 GUITIHEHLD 800
61(BLILY 1,700
BL_60[HBHMTH6IT 2,000
BLeTerIgB6i 18,000
LO6M6ENTS HIeWewTl GLITH6IT 1,000
(PFH6L 25,000
HLTeL OF6v6)] 750
el 19 550
RuibaTId 4,000
BHL_60T 3,000
60,000 60,000

Fhldbeol L 60sb6IT :

3. Cauiomend QuibHTHaHlen s 10 FHIHID, Wemedl Hiswewill CUTHeTen WH 5
FHANPHID DDIDSHHDH

WPH6e0 165 a1y 5 FHAIBHID DMIDHHH

SLEMTeNB6T 5FH UTTHBL 6O LOBEBID NUISHLDIHHTH 5 FHNPHD QHIHEHD.
gya@miy (31.3.95 uig) .12,000)

Ol
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12.  The receipt and payments account for 2013 of a Recreation club is given below.
Receipts Rs. Payments Rs.
To Donation 5,000 | By Salaries 10,000
“ Life membership fee 1,800 | “ Rent 11,500
“ Entrance fees 2,500 | “ Furniture 1,000
“ Subscription 6,750 | “ Electricity 600
“ Canteen receipts 25,000 | “ Canteen Purchases 20,000
“ Journey receipts 4,000 | “ Journey Expenditure 1,580
“ Other receipts 500 | “ Telephone 490
“ Interest received 250 | “ Bank Balance 1,430
“ Card room receipts 200 | “ Cash Balance 400
“ Grant from Calcutta
“ Corporation 1,000
47,000 47,000
Adjustments:
1. Donation entirely % of the life membership fees and % of the entrance fees are to be
capitalised.

2 Subscription received in advance Rs.500 and outstanding 1,000

3. Rent 2,500 was paid for in advance

4. Salaries include an advance of 600

5 Furniture is to be depreciated by 5%

You are required to draw up an income and expenditure account and balance sheet.

QM LIDSHID LaBHH 6 2013-1b0 eihHeETe CLUBIFHD - OCFVIHHIHO &.&

&6 HILILL (H6iTeNgl.

Receipts em. Payments em.
HTOBTEML 5,000 | FLOLI6NLD 10,000
et o miidedt FhaHT 1,800 | 6uTL 6m& 11,500
BIGNLPS)] SL_L_600TLD 2,500 | Lo SH G HIemenorll GUIMHL &6l 1,000
FheM CUBBSI 6,750 | a1 QF6vey 600
FnmIenng Frenev VLD GLBMBEI 25,000 FBmIewIY FTeN60 OHTET(LPEH6D 20,000
LWenIHHMBSTH  QLIBBG 4,000 | Lwemis  GlFev6)]&beit 1,580
1B QuBISHELEH6IT 500 | OFTeneLCLIA 490
aully GLBBH 250 | ouBIBl GBI 1,430
HMTH DemB  OLIBIHEVH6IT 200 | OpTds emwaulmIliy 400
BH6UBHHT OTHSITLFulL b
Bmbal CuBB WwTEILID 1,000

47,000 47,000

SIpH6MIL CQLBIFHEVHT LPeOSHIILIBHSHLILL Cousmr(BLd.

2RPFPE

BeIIOBTENL  (LP(LDEUSHILD

e 2 miiden Fherelsd ¥4 LGS

IR S LeMHH60 Y2 LIMIG

et QuBB FHHT H.500 eugGeuswngul FhaHT ¢mH.1,100

CPSIIMI LOTHBIBEHHBTEN QUTL6nE (1H.2500 (Lp6il OFVIHSHUILIL (H6iTen)
FloUeMHIHID (pedt OHTemad  (1H.600 CFTHEHIeTeNHI.

LoEmeNTd  HIWEILIOLITMH6T 16& 5% GCHUIDTEID @&HIdhEHS

aImeuTUl GFevallend HemibmBUD SHUILBIMeVS GMlleUUD SWTT CFuis.

4
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13. From the following particulars, prepare :
1. Debtors ledger Adjustment Account and
2. Creditors ledger Adjustment Account in the General Ledger for the year ended
315t December 2013.
Receipts Rs.

Opening Creditor Ledger (Cr.) 2,00,000
Opening Creditor Ledger (Dr.) 22,700
Opening Debtors Ledger (Cr.) 2,400
Opening Debtors Ledger (Dr.) 4,21,000
Credit Purchases 20,00,000
Cash Purchases 2,00,000
Credit Sales 18,00,000
Cash Sales 7,00,000
Closing Creditors Ledger (Dr.) 17,000
Closing Debtor Ledger (Cr.) 9,000
Purchase returns 1,00,000
Sales returns 80,000
B/R received 3,00,000
B/P accepted 2,00,000
Bad debts written off 10,000
Provision for Bad debts 10,000
B/R dishonoured 40,000
Cash received from debtors 12,00,00
Cash paid to creditors 16,00,000

Weiteumd  eflugmisenend Oaremi®  31.12.2013  1peBm

CuyGri_196v
Sl. sLenmell CUBTL . (h Fllal (B Hewidh@ LOBEBILD
. sLapCmrit CuBrl G sl (e SemidbE pHwaBsns HWTT CFUIs.

Receipts b.
SJIoL sLetBGmrT CuGI® (1) 2,00,000
oL sLetpGmrT Guby® (u) 22,700
HJIoU L enmerl CGuUGI® (6u) 2,400
SAJIoU sLenmerl GuGI® (U) 4,21,000
SL6 OBTET(LPSH6L 20,00,000
Qrrés OBTeT(LPEH6L 2,00,000
HL6T  BLIEHEI 18,00,000
Qrrés  elmLene 7,00,000
BuigH sLaiBéprT CuEIG (L) 17,000
Buipl sLameil CLEIE (o1) 9,000
@aym@gaa) Q@I.JIJLD 1,00,000
elpusper S , 80,000
CUDIBBGTIW IBDIFFLE CLBBE 3,00,000
OFassBG ML WLIBBIFF.6 JBBS 2,00,000
QUITEHBL 60T [HDIUIFHI 10,000
UTTHBL 6 PSHIHE 10,000
QupIsBE&GAw WLIBBIFF G WBIGSILLL G 40.000
sLemmeMuilL b @mbad CuBB CFTésaid 192 Ob 00
&L BEBTHHEG CBTBHH CFTdsid 16,00,000

5
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14.

15.

16.

On 1.1.2010, a company purchased 5 machines at Rs.10,000 each. On 1.7.2012,
the company purchased another 2 machines for Rs.10,000 each and paid
Rs.1,000 for installation expenses. Accounts are closed on 315t December every
year. Annual depreciation rate is 10% on 31.12.2012, the company sold the
machineries purchased on 1.1.2010 for 30,000 prepare machinery account on
diminishing balance method.

1.1.201060 @@ mmieuend H.10,000 eisd 5 QuibSHrmssT eummiduigd 1.7.201260
Gueuid 2 QAuibAPHRIGEET FHeom h.10,000 eiHD RIS UIH. SHeme HBIe)eIHBHT6
Ggevey H.1,000. HIBGHHOT @6UGEUTH SUeWIBLD  19FDUT 3160  (PIR&HSLILLL S|
AeIhHHTen  CpHuiomed .10 31.12.201260  (p&evled  (1.1.201060)  eummIsSIWI
QuibFHgmiEeT  1H.30,0005@ NBSHIULLE. GOBHH OFe0 Qi (wpempullsd
QuUIHFHT BHemTdbaHemen  HUIMTSHHLD.

The following purchases were made by a business house having three departments:

Department - A - 1000 units M
Department - B - 2000 units at total cost of Rs.1,00,000
Department - C - 2400 units

Stock on 1%t January Were : >
Department - A - 120 units

Department - B - 80 units
Department - C - 152 units _J

The sales were :

Department - A - 1020 units at Rs.20 each
Department - B - 1920 units at Rs.22.50 each
Department - C - 2496 units at Rs.25 each

The rate of gross profit is same in each case. Prepare Departmental Trading Accounts.

gleom - A - 1,000 Siev@dHei )
semp - B - 2,000 Se0@sme Qrdss elenso (m.1,00,000
gioop - C - 2,400 Sieo@mei

saiedfl 1-10 BTeM6Im UJIDUF FTHSHLIL g@@@wngﬂ :

Gleos - A - 120 DG B6i
semp - B - 80 aieo@sei
gleop - C - 152 S0@der

J
lBLNe SHDAIHLOTH] -

aleop - A - 1,020 Seo@®sen @eiiml 0520 efsid
aleop - B - 1,920 seogsen @eiml 65.22.50 eisid
gloop - C - 152 Sie0@sell @aiiml .25 eiHid

Qs @ReoTu AIBIHID  6T6LLVTHBHIMMBEBHTVID PMHLOHHIONE RHHHH.  SHlewmeuf]
elwmuTy SHenibdHlenennd SHUImilobas.

X & Co. has a branch at Chennai. The goods are sent to branch at cost plus 50%. Form
the following particulars prepare branch account in the books of Head office.
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Particulars Rs.
Goods sent from H.O. at invoice price 50,000
Return to H.O. 1,000
Cash Sales 35,500
Credit Sales 8,000
Stock in the beginning of the year 10,000
Stock at the end of the year 11,000

X e CamalB@ Oasienemulsd @@ SHemem 2 6iT6NH.  HMEVEDID  DIVINIVHH 6 (HHSE
Cxiiba HeweNd@  D@IILILGH GBS,  SLDSTEID
aleurmiseflelBhahl HMeLEMID DisVIaevd JHSH6IMNEL FHemend HMHMS HWMT CFuism.

FIHGHBMN LSS

allemsvBum(®

Rs.
HMEVMID DIV BH N HHH DIl Freh@ (L elensouisd) 50,000
HMEVMID DNV BHHHBE HHULT el uigl 1,000
Qyméae  eNBLen6 35,500
BL 63 alliBLIeneo 8,000
OHTLHS eBLIEN6T 10,000
Amig FIHSIHIILY 11,000

17.  The following Trial Balance of Arun as at 31.12.2008 is given to you. Prepare final A/c

S| ([H6v0T 63T
HMIHGDBW6N  HWMTdHseLD.

Trial Balance @mliumuisy

31.12.2008-&&men  @@pLUTule) &6 SHIUUL(BeTengl.  DSH®HHIH  BBHH

Rs. Rs.
Opening Stock eygibu 166 S 15,500 | Capital @psev 90,000
Land and building Creditors asLafiGsi 9,600
Blsvld LOBBID SL-IgL LD 35,000 | Purchase returns
Machinery @uibsyib 50,000 | Qasmeii(psHsd &L 2,100
Furniture wsneng glenemis QuUTmsiT 5,000 | Sundry Income
Purchases Qsmsitpssd 1,06,000 | UMBLISO eICLOTEILD 1,200
Salaries &ibuemd 11,000 | Reserve for bad debts 300
General expenses GQUTEIF GFeva &6l 2,500 | CUITHSBLEN STULY
Rent aurLens 3’000 Sales G)ﬂﬁ}UGIDGOT 2,07,000
Postage oighasd GFsvey 1,400
Wages a6l 26,000
Freight on purchases
Q&TeN(pSHeL ST CUTHGHaTHEH CF66] 2,800
Carriage on sales
alBUeT BHTE a6y CF6u6y 4,000
Repairs wuggumiiiy 4,500
Debtors sLemeMassit 30,000
Bed debts eupmés s 600
Cash Qgrésid 100
Bank am& @i 6,400
Sales return afBusnen &L 6,400
3,10,200 3,10,200

Adjustments :

(@) Closing stock Rs.14,900.

(b) Wages outstanding Rs.2,100.

(c) Depreciate land and buildings 2%, machinery 10%.

(d) Provision of 5% on debtors for bad debts required.

Ffldbel L 60sm6T :

(o) BuHF FgA®mIY @.14,900

(o) GarhuL Geuewrigul w6l ep.2,100

(&) Gsuuomembd - Bleod, &L gL b 2% Guwipdrd 10%.

() sLemefds 155 5% eupmaLel @Hib@& GHeme.
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UG-A-349 BAF-12

U.G. DEGREE EXAMINATION — JUNE 2021
ACCOUNTING AND FINANCE
FIRST YEAR
BUSINESS ORGANIZATION

Time: 3 Hours Maximum Marks: 75

PART - A (3 x 5 =15 Marks)

Answer any THREE questions.
1. State the characteristics of sole proprietary concern.
SHWTENT HimleuendHdHeil QuisvLHemend GHMILLI[BHS.

2. What is memorandum of association? State its purpose.

Simwly (penpGwIB eTeiimTeL 6T6iien?  DiHeit ChTHamsemen GBLLIGS.

3. Distinguish between private and public companies.
SHNBBIOD 1OBBID GUTHISHHIHB BB CauBILBHHIS.

4. What do you mean by promotion? Explain its stages.
ugel 2 wielel LYHmeVEHmeTd Fnildb.

5. State the social responsibilities on business

el BHH60 Fepsll QuTpiiener LB GBIULIGHS.

PART - B (4 x 15 = 60 Marks)

Answer any FOUR questions.
6. Describe the kinds of companies
HIBIOBIGTET aleNHHmeT el

7. List out the features of joint stock companies.

Fnl (BUBIE HBIDSHH 6 SUIGOLIHN6NH  Fnlidb.

UG-A-349



10.

11.

12.

What is prospectus? Explain the components of prospectus.
HBOUD B HMEH 6IHIMBTEL 61667 DH6M 2 L FnDIH6T 6Ml6NMHEHS.
Discuss the powers and responsibilities of directors.

QuISGBM6T DHBTIRISET OBBID CUTBINILESET WiTeney?

Write the procedures of formation of a company.

HBILSHmEH 2 (HeUTHEede0 2 6ien GBI (PenBEH6T 61(DHIS.

Enumerate the scope, importance and objectives of business.

QU BHH (LPHBWHBHIQITID, CHTHHMIG6NT B®ID UFIGLIsYeDevsHU aieul.
Explain the meetings in an organization.

QM HBILSHHL Fal LUUBLD Sl LMS6T GBHH 61(10SH.

UG-A-349



UG-A-349 BAF-12X

Time: 3 Hours

U.G. DEGREE EXAMINATION - JUNE 2021
ACCOUNTING AND FINANCE
FIRST YEAR
BUSINESS ORGANISATION

Maximum Marks: 70

PART - A (3 x 3 = 9 Marks)

Answer any THREE questions

1. State the objectives of modern business.

beven euenlBHH 6 CHTHBMIBMENT FnlIdh.

2. What is partnership?

Fal LTeWT6NID 6T60TLIGHI WITEHI?

3. What is optimum firm?

® HFH HIBIOD 6T6TLGH WMGHI?

4, Define Business combination.

“cuenllad gmmIdSenemIIL]” - euenTULIN]

5. What is meant by debentures?

HLT LIHSHTHIGH6T 6T60IBT60 6160601 7

PART -B (3 x 7= 21 Marks)

Answer any THREE questions

6. Indicate the essentials of a successful business.

Oeumnllayiomes  alewllbhHHle DHHHWTOIFUIRIBMeTH GHNIHHALD.

7. State the merits of sole - trader form of organisation.

SHeoWTe elewllas Siewiolilenr FplienLids Fniib.

8. What are the advantages of rationalization?

(wpempwinen  allendaLoeildhSHevlel [HETeNLOSH6T WITen6u?

9. Write a note on industrial financial institution with special reference to IDBI.

Oamfed HHulwed pHpeusmissT uBs GOBILY 611psHIS. AHL @hHwl  CHTed
Guoum_ B eumislulledr LMIG wWTgl.

10. What are the advantages of localisation of a industry?

1 UG-A-349



CaTled @ Smwemel SHToTelsGLD SMyenidaeT LB OHTGHHH 611HISH.

PART -C (4 x 10 = 40 Marks)

Answer any FOUR questions

11.

12.

13.

14.

15.

16.

17.

Explain the scope and types of business.

el SH 6 LITIOLIOEMsY DBBILD eIeNHHM6NT  6Ml611h ).

State and explain the salient features of cooperative organisation.

gl (bmey Sewwlidlen Fmpliweolsenet alfleuns elenddgw.

Elucidate the importance of horizontal and vertical business combination.
CFmIGHEHI gl Lenwlil] BBID GhT sl Lewwliiler (phsldbgHialdhmsd allendsEHs.
Distinguish between Partnership business and Joint Hindu Family Firm.

Sl LTeIenodGHD, B Rbd  GOGLU  BoearsHBe Qe Bui 2 _siten
CoumpILT(hHemeN  61(LHIS.

Analyse the causes and types of business combination.

QTN B  GQHMHIB M ILNBHTEN  HTT6RIMIBMENULD 6UNBHBHMEMUID LGHHHTUIS.

Elaborate the main sources of Long term finance.

HeWIL &MV HIHUNDT (PHBW HHTIRIBHDET 6T EHb.
Critically analyse the various problems involved in Business Environment.

QWU @HLpevled 2 6oL midslul LsLGauml S TUTHHemen LiGHHTUIS.
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UG-A-312 BAF-13

U.G. DEGREE EXAMINATION JUNE 2021
ACCOUNTING AND FINANCE
FIRST YEAR
BUSINESS ECONOMICS

Time : 3 Hours Maximum Marks : 75

PART - A (3 x 5 = 15 Marks)
Answer any THREE questions.

1. List out the importance Economics.
QumreTmaTrSdleaT peSusgnsms UL ipwelHmiser
2. What are demand schedules and demand curves?
Camen 9| L ousmeuurser LommI GHeme aIEmeTa S6T 6T60T60T ?
3. What are the importance of consumer utility?
HISTCeUMT LweTUTL 6ol (p&aluggiaid eTeureu ?
4. Write a note on Price Discrimination.
allsmev UTEGUTH (5 GO cumTs.
5. What is per capita income?
SeuflELIT GU(HLOMEUTLD 6T6UTMITG) 6T6UT6uT ?

PART -B (4 x 15 = 60 Marks)
Answer any FOUR questions.

6. Discuss about the scope of business economics.

susmtle QuTmeTTaTrSdlar Crrésn unml elleurdlésaniL.

7. Discuss the types of elasticity of demand briefly.

Cameu Qrlpsd] aiemssHmen G (HEHswLNE alleurSldsa.
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10.

11.

12.

What are demand forecasting methods?

GCaemeu (LpeuT SemtlliLy (LPEHMEET WITEMEM?

Discuss the law of variable proportion.

wrl eldlasdlar aldl unml aleurdlsaab.

Describe the equilibrium of the firm under perfect competition.
Hlemmey gyEismy S Blmeuersdlar swflmaemw alauflssab.
Explain the methods of pricing.

allemev [HliTemTiL (pemmaEsemen allem s GmigGai.

What is national income? And state its components.

Cadlw au(HLOTEUTLD ETEUTMTED 6TeuTeuT ? YS6uT Snmidemer GNIII(Hs.
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UG-A-312 BAF-13X

U.G. DEGREE EXAMINATION - JUNE 2021
ACCOUNTING AND FINANCE
FIRST YEAR

BUSINESS ECONOMICS

Time : 3 Hours Maximum Marks : 70

PART -A (3 x 3 =9 Marks)
Answer any THREE questions

1. State the nature of Business Economics.

alenllas QUITHEMTHTTHH6N HesTenlodene GHBILILI[Hb.
2. What is demand schedule?

CHemeu SIL_L 616M6WI  6T6IMBT6L 61601601 ?

3. What is Marginal cost?

@mIz Blewev GF6ve)| 6I6HTNMBTEL 6l60T6N 7

4. What is Law of Diminishing return?

G&OBHAH 0Fs0 alemerney 6lg 6T6iIMmTeD 6I6oT60 7
5. Define - Profit maximization.

60Tl SIFHHMIL - UHTI6VHHEWID  FH([Hb.

PART -B (3 x 7= 21 Marks)

Answer any THREE questions

6. Explain the scope of Business Economics.

auenld  OUTmefluiedsn eTeLemevEmeT el 6T(1DFHISb.

7. What is substitution effect?
ugell (b lleneriey 6I63IMBT6L 61651601 ?
8. What is selling cost?
alBLNe OF606)] 616IMTEL  6T6d60T 7
9. What is Public Enterprises?
QUTHISHHIDM B BIUTRIHEIT 6T6IIMBT6L 61601601 ?
10.  What is production Function?
2 BUHFH OCFweoLTH 6T6IBTEL 6l6dT60 7
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PART - C (4 x 10 = 40 Marks)

Answer any FOUR questions

11.

12.

13.

14.

15.

16.

17.

Discuss the concept of Break - Even Analysis.

gflgw uspy uGguurwelenesr LB allendEHs.

Explain pricing strategies under different market situations.

usLBauml Fhemd HevaITHHeL allensy HITemILID OFUILID UHHM6NT  6)l6TdH 5.
Critically examine the law of Diminishing marginal utility.

BmIgy Hlewev vweuT B algHemw uBp elfleurs 61(1HHIS.

Discuss the various objectives of a firm.

QM BoieuarsHdHler LisvGeauml GhTaHEmIGHmen gnyicb.

What are the factors determining the elasticity of Demand?

Copman OpFDFFenwl SHToTaNSEGHID HTT6wlHeT WiTensy?

Discuss the limitations of Business Economics.

alenllas QUITHeMNWelle G&emmBUTHHMET 66T EH5.

Describe the law of variable proportions.

T al&SSTFFTISHHe aldHlenwl aleufldss.
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UG-A-338 BAF-21

U.G. DEGREE EXAMINATION — JUNE 2021
ACCOUNTING AND FINANCE
SECOND YEAR
CORPORATE ACCOUNTING

Time : 3 Hours Maximum Marks : 75

PART - A (3 x 5 =15 Marks)
Answer any THREE questions.
1. Bring out the difference between Debetures and shares.
sLeT uSSITmISeT LHMILD UBIGSeT @ Guwmrer GoumurhisEamer Qeuefls GlamemTia.

2. A liquidator is entitled to receive remuneration @ 2% of the assets realised
and 3% on the amount distributed among the unsecured creditors . The
assets realised Rs.35,00,000 against which the payment was made as follows:

Liquidation expenses - Rs.25,000
Preferential creditors - Rs.75,000
Unsecured creditors - Rs.15,00,000
Secured creditors - Rs. 20,00,000

Calculate the total remuneration payable to the liquidator.

R HEMEOLILITENT, QFTHHIHBHMmeT BB HMLSHGWD LswibHed 2% (pIauHid
UTHIBTEHSIULTS SLaibCHTHHE CBThHoHs Geuswngul Lswidbalsd 3% gFbuemors 6B
o Mewioll QUBEIETeNTT. OQFTHHIGH6T lBml HenlHFH H.35,00,000 epumTuied b
SIPBTILINBEND  OF 6IGH 36T,

BHMEVLILEF CF6v6)] - Rs.25,000
BL 6 HBHMT - Rs.75,000
(WIDOUFHID LTHIBTHSIULTEH HLaiibBHTT - Rs.15,00,000
(PWAIBHID LTHIBTHSUULL  HLefHCSHTT - Rs. 20,00,000

BHMEVLILITENHBE Heml bdb BCauswingul GIoTHEH FIDUTHMSB Hewrbd) (Hb.
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3. Give journal entries to record following transaction:

(1) Issue of Rs.20,000, 6% debentures at a discount of 10% redeemable at par.
(11) Issue of Rs.20,000, 6% debentures at a discount of 10% and redeemable at

a premium of 10%.
SIPBHTEID [BL6NIQHMBHEHHEG GBICUL G LUFHe| HhHb.

(1) @5.20,000 w&Hisiten 6% SLaUSHTBIBET 10% 6u L Haed Qeueriui i @ Liediy
WPSLFHILTN6D 1O S L .

(11) 5.20,000 wLieien 6% SLaLIGHFHIB6T 10% 6u L Haed GeueleMui i B 6o
(PMSIDGHH60 L SSHLILL F).

4. Briefly explain the pre requisites to be included in Managerial remuneration.
flireurs emglugdled Camde GolemTip (LPEITEILILSEMEUT HEMET &i(Th&ESLOMS
6l & (GBI

5. ABC company issued 6000 equity shares of Rs.10each at a discount of Rs.1
per share payable as Rs.2 on application, Rs.3 on allotment, Rs.3 on first call
and balance on second call. All the amounts are duly received . Pass the
journal entries in books of the company

ABC flmieueurid em.10 wdliiysiter 6000 Framyemer UEIGasmen en.1 et @EnLiguilsd
s el uiled CQaaigginuy QeuefluilLg.. elsmwramriugdlear Cuiflsern.3 egiddler
Guifled em.3, (pae0 yemyplinder Guflsd em. 3 lG0sTms @remTLmd @emLLnTeT Guifled
IS5 CSTmssEnHLD (pmmUiLly GLNHMS.

pipieardlar Lssesdl0 YesHESHLCUL®H LSlasmer &ms.

PART-B (4 x 15 = 60 Marks)
Answer any FOUR questions.

6. Arun Ltd agreed to absorb Raman Ltd as on 31.12.2018. The Balance sheet
of Raman Ltd was as follows:

Rs. Rs.

Share Capital - 3,00,000 Fixed Assets - 3,70,000
2 UG-A-338



(Shares of Rs.10 each)

Reserves - 1,40,000 Current assets
3% debentures - 50,000
Sundry creditors - 10,000

5,00,000

The purchase consideration payable was:

(1) Arun cash payment of Rs.2.50 / share in Raman Ltd.

- 1,30,000

(11) Issue of 45,000 shares of Rs.10 each at an agreed value of Rs.15 per share.

(i11) The issue of such an amount of fully paid 8% debentures of Arun Ltd at 96% as

are sufficient to discharge the 3# debentures of Raman Ltd at a premium of 20%.

Show necessary ledger accounts to books of Raman Ltd.

S|memT Hlmiod Frwett Hmiwsems 31.12.2018 gjeiml FiSgIGsTaTer liLs ClsmamTLg.

S\mewt Elmoddler @iy Hlemevd @My et eumLomm.

Rs.
UBI@ Osmepgen - 3,00,000 mMemevF GFTHHISHH6N
(URG @aIp .1 6fsL)
L - 1,40,000 BLULUF OCaFTHHIsH6N
3% &L TGS ThIG6IT - 50,000
ULy &L efHBHTT - 10,000

CBTeT(LPH6L OMILIUIGT SDHEWTL TR OFeVISHSHUILIL L .

Rs.

- 3,70,000

- 1,30,000

(1) oimew PEpInhHed 2 66N @6lgaIT[h LkIGHEGID 0h.2.50 Qrrésd e dEHe

(11) 45,000 FUBIGSET MH.10 PSS UG, h.15 66 ellensv

RULSCBTeTeTLILIL (B D161 HFH6V.

(111)  oimew Puinsder 3% sl LSS IHIBmeN 20% (MIDHH0 CFaIsHS,
616)16)61T6)] SIS HIMILHHET 8elp HLT UHFHTHIH6T CHemauBuim isiel6re)]

SLET LUSHBH RIS 96cp HULTD 61l dHFHe0

SImHewT HmIndH e ebHeriled Chemeuwimenr CUETL (h Hewidh@HHmeNd ST (Hb.

3
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7. Define Debentures. Explain in detail various types of Debentures.

SLETUSHIRS6T TGS,  sLar  uddimiseflar ubGam aemSHEmET
allfleurs elerdGe.

8. X Ltd was registered with an authorised capital of Rs.600000 in equity
shares of Rs.10 each. The following is its trial balance on 31st March 2008.

Trial Balance of “A”Ltd.

Debit Balance Credit Balance
Good will 25000
Cash 750
Bank 39900
Purchases 185000
Preliminery Expenses 5000
Share Capital 400000
12% debentures 300000
Profit & Loss a/c(Cr) 26250
Call in arrears 7500
Premises 300000
Plant 330000
Interim dividend 39850
Sales 415000
Stock (1.4.2007) 75000
Furnitures 7200
Debtors 87000
Wages 84865
General expenses 6835
Fright 13115
Salaries 14500
Directors fee 5725
Bad debts 2110
Debentures interest 18000
paid
Bills payable -- 37000
Creditors 40000
General Reserve 25000

4 UG-A-338



35000

Provision for Bad debts
1246750 1246750

Prepare statement of Profit & Loss a/c and Balance sheet in proper form after
making following adjustments.

= Depreciate Plant by 15%

Write off preliminary expenses

Provide for 6 months interest on debentures
Leave bad debts provision at 5% on debtors
Provide for income tax at 50%

Stock on 30.03.2008 was Rs.95000

Provide for co-operative dividend tax at 17%

44 8300 8

4

X Ltd omssNssiiul L cpeosHanssIl el @h.600000 LkiGseMs0 dh.geom 10.
Leireumeud et Gammensst @l 31.03.2008.

Gargmemen SmLILY

Debit Balance | Credit Balance
1H6L6I6V6TITEBTLD 25000
LIGOOTLD 750
UM 39900
QB T6IT(LpSH6D 185000
LLTeUTRIS 6F606)H61T 5000
LI  (LPEOSHEIILD 400000
12% &6 LS ImiSHei 300000
@eoTud (o) BLLLD 26250
senb@(Cr)
Blaienal SPLILTSID 7500
DIRIEEETI 300000
Guimps] 330000
GDL_HBTEV Fe)HOHTMSH 39850
ellBLen e 415000
umlg (1.4.2007) 75000
SHOTOUTL_MhIG6IT 7200
BL_6MT6IT 61T 87000
Fn6V) 84865
Qurgl OF6ve|H6T 6835
FJHE WBDID elewy 13115
&BL_L_60ILD
FLDLISLD 14500
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QuisGeTaHeren &L L 6urld 5725

QUITE B 6IH6IT 2110

BLABG olly CFISHULL S 18000

CFevsHsH Ceusmigul - 37000

TBBIFSL (B

BLGOT  6ULDMHBIG,E0NTTH6IT 40000

QuTal @iy 25000

6UTTE SHLGIBEHHBT QHIHE 35000
1246750 1246750

FMEFUIHe0 GFUISLI6H eomUD WB®ID GIplil WBXID SELYBemevd @Gnltienu  Fiwimeor
algalHHe0 Hwmflbsad. LoD OTBBBIGEmM6T CFUIanISI.

Qums BsmTenr Cxpuiomend 15% @&emwma g 60

LiTeuThIs OFeveysemen GUTEHE@ 6T(SHIMIS6NT

BLET USHHIBIB6T WBHTO 6 10TH I 1g IIPHIG).

QUIT OBEID FHHBHHIH MBI LoT6N HL6iidemen 5% SLaneMlLeITHsT S @HIHEHS.
50% eugomen eufld@ aIpBIGEa|LD

31.03.2008 oi6imI FTEHE 5.95000

BB UBETHTW auflenwl eupmised @ 17%

4404832383030

9. Explain in detail the proforma of statement of affairs.

Bemsowplldenasuiet elleuysHensd alflours elend@migbei

10. X Ltd having a capital of Rs.1000000 divided into 10000 shares of Rs.100
each (Rs.75 paid up) and a reserve fund of Rs.250000 was absorbed by Y Ltd having
a capital of Rs.4000000 divided into 40000 shares of Rs.100 each (Rs.60 paid up)
and a reserve fund of Rs.1600000 on the terms that for every four shares in X Ltd,
Y Ltd was to give five shares partly paid as its original ones.

Prepare ledger accounts to close the books of X Ltd.

10000 ukig®sit Heor @h.100 (eh. 75 CQFISSIIL L&) (PH6ev H1000000 OBHBID &ML
B . 250000 Gamewi. X Ltd Y Bmpieuensens rimisCsnemii sl Y Buelsisas (Lpgeo
¢5.4000000. 40000 UmIGSeT FHeom h. 100 (aH.60 CFISSIILLLS) LOBBID ST B
5.1600000. X mmieusid @eiQeuT Breii] UBRIEBGD Y Bmeuend uGHums OFebsii L
MbFH LMIGHHmeT (PpHevled QbHbIHamm 0FasHs CeusmiBLo.

X pmeusnd ghseied Caulrl Bob Hewidb@&HHmend SHUIMiobHaD
11. Describe in detail the methods of ascertaining ‘profit prior to incorporation

ugHelB@ gnl BuIUTEEHHBES P LOBBID el SeoTuUHhend HeibSBLD (LPDBEHENENT
alfleurs  eend @s.
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12.  Lal Company had 1000 redeemable preference shares of Rs.100 each fully
paid up. When the shares became due for redembption, the company had Rs.60000
in its reserve fund. The company made minimum new issue of equity shares of
Rs.25 each necessary for the purpose of redemption and received cash infull. Pass
necessary journal entries.

60 [lmieuersgled em.100 pawdliy pusugid QemissiuL 1000 Wiy
erafleno ukiGeT 2 aterg). Willer Gurg Elmeuersdled smiy Bl en.60000 2 arerg.
B 9INE CamaiuGid QuTws BHmieerd GmnbSUL &L LBIGSmer S e5.25 &&
QeusfuI” B W QaTamsmwwh Quingl. GOILGCLE LSlaismer &(ms.
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UG-A-352 BAF-24

U.G. DEGREE EXAMINATION — JUNE 2021
ACCOUNTING AND FINANCE
SECOND YEAR
BANKING THEORY, LAW AND PRACTICE

Time: 3 Hours Maximum Marks: 75

PART - A (3 x 5 =15 Marks)
Answer any THREE questions.

1. Define Banking.
QIBIGSUTUIEL - QIHTUIDI.
2. State any three types of Endorsement.
UGBTI BHe06T JCHmID clpeiiml cuenBUTMET FH([Hb.
3. What is Secured Loan?
UTHISTUILITEN &HL_631 6T6MBMT60  6T601601 7
4. What are the powers of Bankers Ombudsman?
aumEulsy BBl DIFHHTTBIGET WTenel?
5. What are the objectives of Credit control?
HLeT &I BUUTL 1960 GBHTHBMIGET WIT6nel?

PART-B (4 x 15 = 60 Marks)
Answer any FOUR questions.

6. Explain in detail the functions of Commercial Bank.
auemfdaumidlullsi LisvGauml Liemlaenen alfloauns elendds.

7. Explain the functions of RBI.
RBl-ei uswisenen afleurl.
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10.

11.

12.

Describe in detail various types of customers.
Lsvalend  auTgdbenarenisemen B elfleurs  aleufdbaeaib.

Narrate duties of Collecting Banker.
QUGHHGID QURIS WM HLMIDHM6NT AN6TTHEHH.

Explain the concept of Banking ombudsman.
aumEulwsd Bheut umnl elfleurs ellendEs.

What is Special crossing? Explain its importance.
FBLILESBEL 6TEIMBT6L 61601607 DIH6M  (PpHBHUIGHHIeUD LB elleur.

Explain the term Negotiable Instrument and its features.

LTBBHHHH EUTTRIGHT 6160113 LisHHenen alaufl oipen FABLLIueOLSHmen HHb.

UG-A-352



UG-A-353 BAF-25

U.G. DEGREE EXAMINATION — JUNE 2021
ACCOUNTING AND FINANCE

SECOND YEAR
BUSINESS ENVIRONMENT
Time: 3 Hours Maximum Marks: 75
PART - A (3 x 5 =15 Marks)

Answer any THREE questions.

1. What is mixed economy? State its merits.
S6EOLILL QUITHENTHTTLD 6TEIBI60 6l6iIeu? DiH6d Hlewmdenend GBULIBHS.
2. Analyse the social responsibility of business towards the community.
QUTEMNBHHI60 FepsLIOUTBINILEET UBp S UIs.
3. List the problems of urbanization.
BBJLOWIDTHI6ITeL gBLBLD LIF&FFlenendenst L lgulBaeb.
4. State the impact of social environment on business.
FPHFHBMIGEHP60 QITENNLSHHD JBLUBHHID HTHEBIHMeT GHBIILNHS.
5. What is legal environment?
FU L FGIP6V 6T6HMT6L 616016017

PART -B (4 x 15 = 60 Marks)
Answer any FOUR questions.

6. Write the advantages and disadvantages of Joint family system.
L BHGHGBLU (pompuler Blens @GHemBHenen Lbml e1(WpHIsb.

7. How does Linguistic and religious group affect the business? Explain.
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10.

11.

12.

Quryl  LBBID  WHD  FIT GHUEDHET  UTELUSIHED  eTUITH  HTHBHMSH
gBUBHHIBemen? a6 FHb.

Explain the functions of RBI.
@bFHul MNFiel eumIESUNeT Lienldemend wmBib.

What is globalization? Explain the merits and demerits of globalization.
® UBHLOUILDTEHSBHED 6TGIMBTED  6T601601 ® _60GBLDWILDT FH60160T [HEIEMLD, SHEMLOBHEN6TT
L srpsiss.

Evaluate the five year plans in India.

Abswneller mbHTemiG S Lmisen UBn wHUIIGS.

What is meant by economic environment? State the inflation on business.
QUTHEMTHTIF FBMIBEHLP6D 6TIMBT6L 6T6d60 ! LinIeNdHD CUTHEMTHTTHNSH 6THIBIGHILD

UTSHEHmEH e6ilemnd GSBIULIHS.

Discuss the impact of political environment on business.
aUeMNBHH 60 DTFUID SBBIFGWe06T HTHEMmE6T GHBlHH alleul.
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UG-A-343 BAF-31

U.G. DEGREE EXAMINATION — JUNE 2021
ACCOUNTING AND FINANCE
THIRD YEAR
BUSINESS FINANCE

Time : 3 Hours Maximum Marks : 75
PART- A (3 x 5 =15 Marks)

Answer any THREE questions.

1. State the functions of a Finance Manager.
Big Guevmenfleir Liswlldemen @GMILILNBS.

2.  Short notes on the financing of long term working capital.
HEWIL.  HEDL (LPeNB  (HeVlel 2 _6iTen [HlFh SibFmisemen LBH Fpl Gl suenys.

3. Explain the kinds of working capital.
QFweOUTL (B P6VSH AUNBIHEMET  6)61T8 E) .

4. Altdissues Rs. 100000, 8% debentures at a premium of 10%. The cost of
floating is 2%. The tax rate is 50%. Find out the cost of dept capital before and
after tax.

“A”eNAGLL 5.100000, 8%bHTeN HLGILSHTHMS AH 10% 161 (PSS ILT60
Geueful’ L gl elemsv Ted 2% oHeyd, sufl aldHd 50% ysa|d SHESBH. L6
AWeuHNF OFevemeal aufld@ (el LBMID e 2 6ienend HewibdB.

5 EBIT =Rs. 300000; WACC=15% Interest=Rs.90000; Cost of debt=10%. Calculate
the cost of equity Capital(Ke).

EBIT = Rs..30,00,000, WACC=15%, eul_19=¢5.90,000, &L6i1 OQ&Fevay=10cp. GHTeng LIMIG

ApsuHen CFevemel HEMTHD (HS.
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PART - B

Answer any FOUR questions.

6. Explain Walter model of dividend.

QUTELL T (LpedMB LIBIGTHTUIHmS alleu.

(4 x 15 = 60 Marks)

7. A company issues one crore equity shares of Rs.100 each at a premium of

10%.

The company has been consistently paying a dividend of 185 for the

past byears. It is expected to maintain the dividend in future also. (a)

compute the cost of equity capital.

QM Hoeuald @wm Camg ChTeny URIGHEMmeT @6ml h.1005@& 10% WM& ILT60
CeueMuiGaEmal. SibdH BpeuaTd OBHTLTHEH (H.185 &8 &LbH 5 QUHLHIGH6NTS

URISTHTWIONS CFashs aImSmaEI.

CpiTemio LIMIG elensvenul HewIHd(H.

QUMD HTEVHHL Rend eTeueuTm LFTLOMLILGI.

8. A company wishes to determine the optimal capital structure. From the

following selected information supplied to you, determine the optimal capital

structure of the company.

Situation Debt(Rs.) Equity(Rs.) After tax cost of debt(%) Ke(%)

1

2

3

4,00,000 1,00,000
2,560,000  2,50,000

1,00,000  4,00,000

10

11

14

QM HBIIGIHH 2 _HHID UG Dimwlienl Careagmdbdd emUUD ShabHSHBSH.
SIPHEMIL. HHAUVISH LIg B CLPSVSHE, 2 _HFHID Fn60He Diewollenl CHTHOSHHLILITWLITS.

bl6mev

1

BL_6H Cremioumie  auflbE Lbwsw sLa(%) Ke(%)

4,00,000 1,00,000
2,560,000 2,50,000

1,00,000  4,00,000

10
11

14
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9. A firm issues debetures of Rs. 100000 and realises Rs.98000 after allowing 2%
commission to brokers. Debetures carry interest rate of 10%. The debetures and

due foe maturing at the end of 10tk year at par. Tax rate is 55%. Calculate cost

of debt before tax and after tax.

@ Boeusd h.1,00,000 w&llsiTen HLAUSHHTHmS CeuafulbhSBad. DHemen Byl
&Y 5.98,000 etaigH 2% DDIDHHH (PHAUT HPley DbdH HLALUSHHTD 10% 6ul 19
B HHmH CUBBI 2 6iengl. 10 aumL (Wigedled DbFH HL6T LSHHTID OBBID (PSATeUTEISH
WPHDHH0 2 _6iengl.  aufld@ (el BBID L6 U6l CF6valmens &Hewldbd BHb.

10. What are the components of Working Capital?
BEOL (LPeDB  (LPHeV6T 2_61T6ML_HHMIG6NT WTeneu?

11. Explain the forms of Dividend Payment.

UMRISTHTW  6upmISH66 cuendHemen alleufl.

12. A company issued 15% redeemable preference shares of Rs.100 each of an

amount aggregating Rs. 100000 at 10% premium, redeemable at par after 5

years. Determine cost of preference shares.

@ Bneuend 15% 1561 H@& (weieifleno LmiGaemen Heom 100 Gordsons  ep.1,00,000

10% 15611 (pawHHe0 QaueMuiBdBH. DS DBHH 5 UL (PHLOGHSH60 L5 BLILIBLD.
HCa, (WeiemIflenio LUMIE elensvenul &Hewrobd) (Hb.
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UG-A-354 BAF-32

U.G. DEGREE EXAMINATION — JUNE 2021
ACCOUNTING AND FINANCE

THIRD YEAR
AUDITING
Time : 3 Hours Maximum Marks : 75
PART-A (3 x 5 =15 Marks)

Answer any THREE questions.

1. What is auditing?
HomibenBUTUIED 6T6IMBTEL 616016017
2. What is audit note book? State its contents.
SHHME LHHBHLD 6T6NMBI60 6160607 DUHT 266N HHMmISH6NT BN Fnpisb.
3. State the importance of vouching.
ASMEFFLG WPHEHWHHNHMS GBUIBHS.
4. State the advantages and disadvantages of audit programme.
HWNBMD FH L HAHGVIET6N  [HENIDHET OBBID GHDBLT[HHENET  Fn k.
5. Write the characteristics of an EDP environment.
EDP @ipBleneoullss @ emimagFunhiaenst 61(105I15.
PART -B (4 x 15 = 60 Marks)

Answer any FOUR questions.

6. Explain about the appointment of auditors and his qualification.
HETNBHEMBWITENT [HIUILDETD LOBBILD Dieufledl HEHBH Bemen a6 @ db.
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10.

11.

12.

Write about the different types of Audit.
Hemlldemauleds LisV@aIml alendHemne )6 Edb.

Discuss the procedure of audit under EDP system.
WOl63T HlemIbd alal] CFuied(penBm Hewllbensdulle aIL(LPNBHEMET  6)l6)T S dHa]LD.

Explain the differences between verification and valuation of assets.
FAuTTHHBGID WHINBHNBHID 2 66N CaUBILTHHMN6ET  FnBIb.

What are the duties and rights of an auditor?
QM HewlbHemBWTenflell HLeEH6 BB 2 fenosei Wimeneu?

Discuss the various objectives of investigation.
Carmpemenui(hHelsl GHMlHCHTeTHM6N 61(HISH.

How would you vouch the following?
(a) Cash Sales & (b) Payment of taxes

L6l meNeTeUBen  6T6UUTNM] FT6ImMule)] OFuleumul?
(@) Qrrés elpusmenr & () OFeuhaul el
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UG-A-355 BAF-33

U.G. DEGREE EXAMINATION - JUNE 2021
ACCOUNTING AND FINANCE

THIRD YEAR
INCOME TAX
Time: 3 Hours Maximum Marks: 75
PART-A (3 x 5 =15 Marks)

Answer any THREE questions.

1.

State any ten exempted incomes under Income Tax Act, 1961.

aumLomen euifld LL1b 1961 -6 Lig eflevgsatissiul L gGaeb U auporarsans GBEIULIGS.
Compute gross salary from information given below for each situation separately. Salary
Rs. 3,500 p.m.

D.A Rs. 1,000 p.m.

C.C.A Rs. 200 p.m.

H.R.A Rs. 1,000 p.m.

Commission on turnover achieved is Rs. 6,000 Situation

(a) Living in own house



(b) Living in rented house at Delhi as D.A enters into pay for retirement benefits and
rent paid is Rs. 1,500 p.m.

(¢) Living in rented house at Agra and D.A. does not enter into pay for retirement
benefits and rent paid is Rs. 1,000 p.m.

&G Qarpssuul L eleurmseladpbg  eaGeurm @GpHlos@h salssalCu  Quorss

sarSlLIGMG HeTEHS (hS.

gbuerld — em. 3,500 (orgbd eemdlnHE)

Siseflena Lig — ¢ep. 1,000 (orsid eerdlns)

&.8l.er — em. 200 (orsLbd epahl;)

&I (H eurLens Lilg — ¢. 1,000 (orsid epesh )

dpuearssrer sidle] — ep. 6,000

GLpblenavaer :

(o) Qarhs o ige cuflgsmed

(<) QLevedluded wrsbd p. 1,500 curens 6l 46 ulGsmed isellenaLiLig @UIISTL FQIMSEE,
T(H581& CsmewTLTed

(@) <psrmelled wrsbd . 1,000 eurLems 6l ulFeTed selamaiiLig QUIEETD FQIMEHESE,
T (HSgIGEsTETETTS LI FSHE 6.

Mr. Akash, a Chartered Accountant in Mumbai. He has submitted the following Income

and Expenditure Account for the year. Compute his income from profession.

Expenses Rs. Income Rs.
To Drawings 24,000 By Audit Fees 1,12,000
To Office rent 21,000 By Financial
To Telephone consultancy services 49,000
installation By Dividend from
charges under OYT Indian Company
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scheme 7,600 (Gross) 3,000

To Electricity bill 2,100 By Dividend on units
To Salary of staff 33,000 of UTI 2,000
To Charities 600 By Accountancy
To Gifts to relatives 4,800 Works 12,000
To Car expenses 10,500
To Subscription for

journals 1,250
To Institute fee 600
To Stipends to

trainees 6,000
To Net Income 66,650

1,78,000 1,78,000

Notes :
(a) Depreciation of car during the year amounts to Rs. 2,500
(b) 30% of the time, car is used for personal purposes.

EM6Y, (PO@UUGED UL LW SEsaTerT. el efgiarer jeumen il auheurl wHmiD Clawe]
se&S a0 (HHg leutler QSmLle) uHLTETSMS HerTés(H.

Qeevay €. QU(HEUITLI .
er(HLLy 24,000 samfllsms sl Lamrid 1,12,000
SIDICIDS UTL_ NS 21,000 Hulwicd <Cargener
OYT A L_gan epeaoid Gsenou 49,000
QarenaGudl Himelwsnarer QbHw
FU_Lamid 7,500 BmeuersOmbg
WOeremy sL_Lawurd 2,100 umsTgmwb (Qrésn) 3,000
viaeflwmer #oLIemDd 33,000 wurevuy Bl 10mBE 2,000
Qarer(® Hlmieuer perCasrenL 600 umsTHTWD (QLIEFLD)
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Qerhgsaryis@pdsrer Lfls 4,800 sawsdHwe Couamavser 12,000

wélpeyhg GFway 10,500
Qs Plwe epgr 1,250
Blmicuans sLL_eawrid 600

LD A wreri s @hEsTen srdlwib 6,000
Bl& T eupeumi 66,650

1,78,000 1,78,000

@y :
(=) By ypariged wlpe|bdnarear Cauinrears Hgrans . 2,500
(=) Qerpg 2 LCWTEsSDaTs wlpe|hg S0% sred LIWETUHSS UL L g

Mr. Bhatia sold a plot of land at Hyderabad on 1.6.2013 [(CII = 939)] for Rs. 13,40,000.
He paid Rs. 40,000 as selling expenses. The plot was received by him on death of his
father on 15-3-85 [CII=125]. His father acquired it on 1-4-1980 for Rs. 1,00,000 and its
F.M.V. on 1-4-1981 was Rs. 1,20,000. On 1-10-2013 he invested Rs. 3,00,000 in bonds
issued by Rural Electrification Corporation Limited notified u/s 54 EC and Rs. 2,00,000
on 1-3-2014 in Bonds of National Highway Authority of India. Compute his taxable
capital gain.

urliquim, gsrrursdeierar sradlwamerenw 1.6.2013 (CII = 939) e efpuener Qewiwiiu L
Qgrens m. 13,40,000. eflpuener Ggawey . 40,000. e spensuller @nlidn@l Mer 15.3.85
ey (CII = 125) @Qbs srelwemaemu et Qupprt. @eur ghens 1.4.1980 iem em.
1,00,0008@ @bs weerenw eurmdermr. 1.4.1981 ojemm BHlumumorer SjmsTg wdHUL .
1,20,000. 1.10.2013 ey Slymo Weeusd spsusdrsder ep. 3,00,000 wpsad® (L iGfey
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54ECullen Lilg GO LUl L g)) Cewidpmir LHMILD

ep. 2,00,000-gems @pHwu Cosslwu QpHereranas gevpule LgHrsHa 1.3.2014 e wWpsed®H
Qe Slprir. SeumenLw aiBLorer cufl QeQisgiousHaTeT (PO (H OTLSMS Saurdsd (Hs.

5. The following are the particulars of the income of Mr. X (Physically handicapped with
severe disability) working in a company, Compute total income.

Salary Rs. 20,000 pm, D.A Rs. 4,000 pm, Rent from house property Rs. 1,00,000. Interest
on postal savings bank deposit Rs. 2,000. Winnings from lotteries Rs, 50,000. Long term
capital gain on sale of old car Rs. 10,000. Short term capital gain on sale of shares Rs,
60,000. Contribution to recognized provident fund Rs, 40,000. LIC premium paid Rs.
65,000 on his life (Sum assured Rs. 3,00,000). Mediclaim premium paid on the health of
his wife by Cheque Rs. 20,000.

Yereupd eupLoTeT elleurmisear o drerar. Sm. X, (SHepWTs saaripdmell) @ Himeiasde
uewtlyfiueu, sasd(H Qorss eumwrerd. gbuerd . 20,000 p.m, D.A. 5. 4,000 pm, &i@H
Qersgissatier @b . 1,00,000. @yreud sumed Gauilliy eumidl eneutiy em. 2,000. Qeumdluder
erl_Lfagar ep. 50,000. BeirLsme epogear < srub. Lempw srilar edpuemer er. 10,000. @ndlw
ST EPOSEILD LiiGsemer edlpueamer Qaueusnea@ p. 60,000. unisalliy omdsrrn Qubn Bl en.
40,000. LIC @fflwib QegusdHw ep. 65,000 eurg eumpsansuid (Qsmens . 3,00,000).
wmSsien GATBlwb QeasHwug ep. 20,000.

PART - B (4 x 15 =60 Marks)
Answer any FOUR questions.

6. How is residence of an assessee determined for tax purpose? Explain the incidence of tax
liability.
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aufl a0y Crrssssdnars qm pufler @guimliy oipsavg ereuaurn SToralssiu®Eng?
aufl Qurmitiy CrilL_&aaiqw @GLpane afleul.

Mr. B is working in ABC Ltd., and has given the details of his income for the previous
year 2016-17. You are required to compute his salary from the details given below :
Basic Salary Rs. 10,000 p.m.,

D.A. [60% 1s for retirement benefits Rs. 8,000 p.m.

Commission as a percentage of turnover 1%

Turnover during the year Rs. 5,00,000

Bonus Rs. 40,000

Gratuity Rs. 25,000

His own contribution in the RPF Rs. 20,000

Employer’s contribution to RPF @ 20% of salary

Interest accrued in the RPF @ 13% pa. Rs. 13,000.

&G Qar®ssiiul_(Herer eleurmseafladimbg ABC Ltd., B eremueuflear, Blmeuasdelmbs
e et 2016-17 Djeui FbLTESNS SHerés(h.

SllgliuenL gbuerid (rslb eemdlna) ep. 10,000

SiseflepavliLilg THLD eerdlHE, ep. 8,000

(50 g56i5D guiey s LILESEEEES) e (elhuameanie ssaissdd) 1%
< erig e ellpuene em. 5,00,000

Gurmremav em. 40,000
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uentl&@srenL em. 25,000

omgsiasiul L Ceope Bldsel uniseflliy . 20,000

venfl @jirggCeurtlen umisailLy 20 #5e4dls sbuard. Cawpe HliEsaE cupnrisiiul L 13 sseildls
aullg (Y emrgme) em. 13,000.

From the following statement, compute the income from Profession of Dr. Sunit, if
accounts are maintained on mercantile system.

Rs. Rs.

To Dispensary rent 36,000 By visiting fees 45,000
Electricity and water Consulation fees 1,25,000

charges 6,000 Sales of medicines 72,000
Telephone expenses 6,000 Dividends 5,000
Salary to nurse and

compounder 36,000
Dep. on surgical equipment 6,000
Purchase of medicines 36,000
Depreciation on X-ray

machine 4,000
Income tax 5,500
Donation to Rama Krishna

Mission 4,000
Motor car expenses 9,600
Dep. on car 4,800
Net income 93,100

2,47,000 2,47,000

Notes :
(a) Electricity and water charges include domestic bill of Rs. 2,500
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(b) Half of motor car expenses are for professional use.

(¢) Telephone expenses include 40% for personal use.

(d) Opening stock of medicines was Rs. 6,000 and closing stock was Rs. 4,000.

&G Qarhssiul L 9hsamsudelmbgl LTsLT safld eremuoufler samré@aar eurentl wpenmiiLilg
ugrflgslu®Enseamme eumen il QFTHD aUHLLTaTSmS Hamrad(H.

.
D(FHIISHEL UTLa0G 36,000
Blengmyid HmID Glq. BT sLLeawrid 6,000
QgrenawGué Qgaey 6,000

Qgaellel wHmib WEHHgIG®IILIGT

SLDLIGTLD 36,000
smeeu HFng 2 LisTaRTHISET

Bgren Cginmentd 6,000
WDBHEISET QareTIpse Qligs 36,000
@-Cr Qupdlnd Bgren

Cauiored 4,000
cu(pLore auifl 5,500
<nGraneu evgruasSHnE

BenCsmenL 4,000
wépeyhg GFaa] 9,600
wépeypg Caiimed 4,800
Bl&T cu(HLTETD 93,100

2,47,000

@iy :

.
LITTeneu &L_L_awrLd 45,000

< Cooreaman s_Lad 1,25,000

D(BHSIEET 6SlHLIEH e
Qewigg 72,000
LIBIGTSTWILD 5,000
2,47,000

(o1) Wewamy wHMID G4BT s ardded 6L g Damen sLLeawrid eh. 2,500 2 6rerL_&&lwig)

(=) wdlpeybdnarer Fweald LT ATl FDLIBSOTE QEwiLL g

8
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10.

(@) GsreneCudl s Lanr Gaalled p. 40 Djeumenw QeThs 2 LCWTESSDETES CFwli’ g
() w@bg Qurmlsafler <y rbu @l ep. 6,000 wHmib @mis @ Ll ep. 4,000.

Mr. Ghosh sold a house on 1.9.2016 for
Rs. 13,00,000. This house was inherited by him during 1981-82 from his father who had
constructed it 1s 1971-72 for Rs.50,000. Mr. Ghosh spent Rs. 50,000 on renovation of the
house in 1986-87. Fair market value of the house as on 1.4.1981 was Rs. 1,50,000.

This house was under negotiation for sale in May, 1990 and he received Rs. 80,000 as
advance money. The contract could not materialize and the advance money was
forfeited. Compute the amount of capital gains assuming that he does not quality for any
exemption.

{C.L.L. for 1981-82 : 100, 86-87 : 140, 90-91 : 182, 2016-2107 : 1125}

. Caray ep. 1.9.2016 <enmy oS en elpmerermr. 13,00,000. 1981-82-6 geng spenguiid
OIS, 1971-72-6 €. 50,000 GuTTBI GTTT. (. Camey
5. 1986-87 @eb ai(h g iugmars ep. 50,000. 1.4.1981 @)ed et g6 Hlwimuiome &heng oL
eh. 1,50,000.

1990 <> e Cw wrassdHd @Qbs 6ih eNpumansE eubsg. eum @. 80,000 e iguw
Lemrd @UUBSD Benl(Pedniu(iss WP rsg WHMID (pemdml_lq Uard @phg el g
SETES (NS, APOSET ASTLEISET6T SjeTenel el Thsbeurh ele&EEETHEaD ST Srafleane
TG &(H3& Ol & TaT(EhEISHET.

{C.L.1. for 1981-82 : 100, 86-87 : 140, 90-91 : 182, 2016-2107 : 1125}

The following investments are held by Mr. Ashok on 01.04.2016.
(a) Rs. 4,00,000 - 8% TN. Government loan.

(b) Rs.3,50,000 - 12% debentures of a textile mill, Coimbatore.

9 UG-A-355



11.

(¢) Rs.5,00,000 - 12% debentures of Goodwill trading Company. On 1.9.2016 he sold the
debentures — cum-interest of goodwill trading company and purchased Rs.6,00,000 —
15% debentures — cum-interest of Fairdeal trading company. Interest on investments
is received half yearly on 15t July and 15t January every year. Calculate income from

securities for the previous year 2016-17.
&(1p. ACars eramueui 01.4.20166 ECpuyerer (PSS (HSMaT meUSSIGTATTIT.
(=) em. 8 sUIPBHT(H 2Ars sLa em. 4,00,000
(<) ep. 12 Camuepsgnt GLsevLed Wl sLail_(HL ugsdrd ap. 3,50,000

(@) e 12 gLlele cuamiles Himeier sLe_(HL usSlrd 5.5,00,000 1.9.2016 <jemm @Lelle
auanils Himeuer sLaf_Hl usHrsans el iguer Carsg elpuemer QewdmmT womibd 15%
QUL I UL 6T LT () usSrseang Gumee alamfla Bineiasdla . 6,00,0008@E eurmi@dmmi.
PEdHser Brer auliy moamead 1 whmib smemeufl 1eb eeuGeum(m cuBL(pLD eupBsLLGE DG
wphangi ek 2016-17ssrer Wepanrkisafler eumorarsans sarss (hs.

Given below is the Profit and Loss Account of a Timber Merchant for the year ended 31st
March 2017.

Rs. Rs.
Opening Stock 25,000 Sales 5,00,000
Purchases 2,560,000 Rent of Property 15,000
Wages 1,00,000 Closing stock 35,000
Audit Fees 1,000
Repairs (House Prop.) 2,000
General Charges 1,500
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Commission for raising

loan 1,000
Bad debts reserve 500
Bad debts 2,000
Interest on capital 1,500
Contribution to Staff 2,500

Welfare Fund

Provision for Income-tax 10,500
Depreciation (Allowable) 2,500
Net Profit 1,50,000

5,560,000 5,560,000

You are required to compute his total income for the A.Y. 2017-18.

2017 wris 31 opid Hladl piyeuamLbs euBLSHnarar e wr edlwrurflsefler erub wHmib
Qi savéE EC Qarhissiul_(herarg).

{h- -
Sohs LkiE 25,000 efhuaear 5,00,000
QareTpsed 2,50,000 Q&rgg) cur_ans 15,000
cardlwIkigeT 1,00,000 ep@Hse Lk 35,000
SETESHTIO|S &HL_L_GwTLDd 1,000

ugurTiyser (65 (B S 1b) 2,000
QuITgd SL_LeTIgeT 1,500

sllagen sLaaflé @D 1,000
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12.

uTITE HLG @iy 500
TS L eiiessit 2,000
ppsenslen BHTer aulig 1,500
senflwis@EhssTan LikigefLiy 2,500
cu(pLoTE il 10,500
Cawirargdnarer pavefl
P 951580
(N EEEE NN 2,500
Bl&r erub 1,50,000
5,50,000 5,50,000

BRIGET 6.qU1.5E Sleurgl Qs aumeuran saudslL Gouar(Hib 2017-18.

Compute the income from house property from information given below.
MRV - Rs. 18,000

Standard Rent — Rs. 20.000

FRV — Rs. 19,000

Actual Rent — Rs. 24,000

Municipal taxes (50% paid by tenant) Rs. 1,800 pa.

Expenses incurred on repairs

By owner — Rs. 3,000

By tenant — Rs. 3,000

Collection charges — Rs. 1,000

&G Qar®ssiiul L efleurmsailed®mbg — 63 (h Qe au(HLOTaTSms Saéd (5.
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B&ITL&l eurLena WSl — ep. 18,000

a7 aurLeng — em. 20,000

Blumurer eur_ensg Wl — em. 19,000

2 arenLowlTen eumrLeng — ¢f. 24,000

warT &l aurfl (em. 50 @gudlmliuerme QeaissiiLihEng) — em. 1,800
LgIB&s Qeiutiul L Qaweysar

oSt B Qembsésmyi — 5. 3,000

GlqulmLrineu — em. 3,000

QU@GEOILILE &L_Lewrid — . 1,000
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UG-A-356 BAF-34

U.G. DEGREE EXAMINATION - JUNE 2021
ACCOUNTING AND FINANCE

THIRD YEAR
COST ACCOUNTING
Time : 3 Hours Maximum Marks: 75

PART-A (8 x 5 =15 Marks)
Answer any THREE questions.

1. State the advantages of Cost Accounting.

9L &FNeme0s SenrsdlLeien Herennger GBILILIGES.

2. What is material control? What are its objectives?
epoliGur@er  SLOUUT(  eTETDTE)  6TEIeT?  <SH6T
CrI&snIsET Wreneu?

3. Write down the essentials of a good wage system.

@M BO® el (pevmulfler  @erHlLenDWITEEMWL
T(DSI%B.



4, List the method and applicability of contract
costing.

PUUBS LSS  (PdDH ST T HLLENLD
U 1gui(Bs..
5.  What do you mean by “Break Even Analysis”?
FL6eYES 2,116 GTETMTE GT60men ?
PART-B (4 x 15 =60 Marks)

Answer any FOUR questions.

6. Prepare a cost sheet from the following details.
Rs.
Raw Material Consumed 80,000
Wages 20,000

Works expenses are charged at 100% of wages.
Office overhead is charged at 25% on work cost
and selling overheads at 10% on works cost.

&Cip QarHésiu_(Herer efuraisafedmbg
SlLGs6llane @GNILL s Cguis.

€.
P LI LIT(HET eUThIS WIS 80,000
Fa.60l 20,000

uewild Qeeeysemar 100% el g saédl (Ho. DiQiais
GupOswelener 25% Lienll oiLsssHlen B sared (Hs.
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afpuear Cuopbgwelenar 10% Lewt oiLdsddlen L5g
STEHS ().

From the particulars given below write up the
stores ledger card :

2008
January

Opening Stock 1,000 units at Rs. 26 each
Purchased 500 units at Rs. 24.50 each
7 Issued 750 units

10 Purchased 1500 units at Rs. 24 each

12 Issued 1100 units

15 Purchased 1000 units at Rs. 25 each

17 Issued 500 units

18 Issued 300 units

22 Purchased 1500 units at Rs. 26 each

29 Issued 1500 units

Adopt the FIFO method of issue and ascertain the
value of the closing stock.

Epsrapid  elurmseiad@mbg  uarLs  CuGTLE®
SLanLanw SwmflEse .

2008
speuaul

1 <rbusrsd iy 1000 si@ser . 26 6igbd
5 Qararpse 500 Sj@@ser en. 24.50 6igb
7 euprdug 750 Se@Es6r
10 Qsrerepsed 1500 Se@s6r ep. 24 aigb
3 UG-A-356



2008
speuaul

12 euprdlug 1100 so@sdr

15 Qarerepged 1000 a@ser em. 25 6z

17 euprdug 500 Seo@ser

18 aeupmdug 300 e @ser

22 Qararpse 1500 Se@sdr . 26 aigib

29 auprdwg 1500 oe@ser
Wsdled eubgamel (pFele sfbsenes erarn (FIFO)
wperpulileb @midlEF Frsslmliens SGa[Hs.

Calculate the earnings of a worker under
(a) Halsey Premium Plan and
(b) Rowan Scheme.
Time allowed = 48 hours
Time Taken = 40 hours
Rate per hour = Re.1
uemtlwumeri Ll igw gaedlen Saurédl (ha.
(=) apreGs fBlwb S b Hmib
(<=3) Crmeumesr SLLLb ppevld senrédl (Hs.
@gssIULL Crrb = 48 enflser
T (H5gIGCsTaTL G = 40 wenfleer
(1 el GBIy gnedl eIz = ep. 1.00
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The Modern Co., is divided into four departments.
A, B, C are production department and D is
service department the actual costs for a period
are as follows :

Rs.
Rent 1,000
Repairs to plant 600
Depreciation on plant 450
Employer’s liability for insurance 150
Supervision 1,000
Fire Insurance in respect of stock 500
Power 900
Light 120

The following information are available in respect
of the 4 departments :

Particulars A B C D
Area (Sq. ft.) 1500 1100 10 5
No. of employees 20 15 10 5

Total Wages (Rs.) 6,000 4,000 3,000 2,000
Value of Plant (Rs.) 24,000 18,000 12,000 6,000
Value of Stock (Rs.) 15,000 9,000 6,000 —
H.P. of Plant 24 18 12 6

Apportion the costs of the various departments on
the most equitable basis.
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rrLer sbhCuail Breng glensamer Blmedluarerg.
sfle A, B, C erenm eperm 2 husds giemmaser D
Grenous  glawpwur@bd. o  JLssD S0

Qarhssul_(HeTerg.
€.
QUTL_ 605G 1,000
Quir) g me Li(pgILIMTTiL 600
Qurr Berer Csiorad 450
uenflwrerflesr srilbEH QurmiiiLy 150
Cupurienel 1,000
grsdlen B8 § smiSE 500
LOGTFTJLD 900
cflemd @ e 120
BTEN @ SDSETET SHeUE6T SCLp o drere |
NLrBISET A B C D
urliLene| F&IT Silq- 1500 1100 10 5
uewflwment erairantSens 20 15 10 5
QuoTéss saed (@) 6,000 4,000 3,000 2,000
QuisdrsHen AU () 24,000 18,000 12,000 6,000
srédlen AL () 15000 9,000 6,000 -

Quiglrsglan gdlor 664 24 18 12 6
H.P.

LOCeum HIMDEEH&EE UEGD Cewelamisamer sflwimer
wperpuldled 19M505[H 5.
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The following is the summary of transactions as
on 31t December, 2010, relating to a special
contract completed during the year :

Rs.
Materials bought from the market 1,500
Materials issued from the stores 500
Wages 2,440
Direct Expenses 294
Works on cost — 25% of direct wages
Office on cost — 10% of prime cost
Contract price Rs. 6,000

You are required to prepare a Contract Account
keeping in view that materials returned amounted
to Rs. 240.

2010, gsbur 3l (pighs erignaErer Ll lLbs
IG5 DS Tenn BL_GL1q &N &SEIT &G
QaThdsLLL(HETerg.

€.
shensUile amearipge &g epaliblummer 1,500
ueanr_a grenaoudledlmba! epeliGummeT eupmidwg 500
FaV) 2,440

Cririq& Qave|ser 294
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Lewtl SiLdswrengl 25% Coirig gaed g

RIS SLsswreng 10% a6 oiLsssHlern g
UILBS aflenaw em. 6,000
Smid oendu epeoliQurmer ep. 2403 HmEID

Qarewt(h eliLbs Seauradliied ST ClFuis.

Assuming that the cost structure and selling price
remain the same in Periods I and II, find out :

Year Sales Profit
Rs. Rs.

2010 1,40,000 15,000
2011 1,60,000 20,000

(a) Profit Volume Ratio

(b) Fixed Cost

(c) BEP Sales

(d) Profit when sales are Rs. 1,00,000

(e) Margin of safety at a profit of Rs. 10,000.

@ Bneuasde @ream® sreol L@GHed o HusHE
QFea| SenwliLb ellhueamen ellenaubd G Hlanauded
QBULSTS QETeiT(h) ELDSEHTL_CUMSEHMETES ST (H.

<y edbuener  @TULD

- -

2010  1,40,000 15,000

2011  1,60,000 20,000
(=) P.V. a9
(<=3) BHleneg QFeeyser
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(@) ehuemersEflu @eru-plL o Hlane

() @fpuener ep. 1,00,000 @ m&EmCurg @emuib

(o) eomubd em. 10,000 @Qmsen  Curg  Siger
urglsriyl UGS,

From the following data, calculate labour

variances :

The budgeted labour force for producing Product A is:

20 semi-skilled workers @ p.75 per hour for 50
hours.

10 skilled workers @ Rs. 1.25 per hour for 50
hours.

The actual labour force employed for Production A is:

22 semi-skilled workers @ p. 80 per hour for 50
hours.

8 skilled workers @ Rs. 1.20 per hour for 50 hours.
SpsaL  efurmsailey @ BE, Lewilwmed eHu@LD
LrHUTHSmET Saurédl (hs.

Qurmer — A 2 pusdssrar Qsmerert Fii b
sruul_(hererg) :

20 urg Sperarraer, ¢ W@ h. 75 eusT eI
Q@rgsid 50 wewtlser

10 Spevowirereuraer, e weanils@, p. 1.25 Qorggn
50 waenflser
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Qurmer - A 2pusdlésrar o a@TenWTET
Lemflwmeriaer :

22 urg Sperartaer, ¢ el . 80 eusT eisb
Q@rgsid 50 wewtlser

8 SHmenwireaneuraeT, e weanldsE p. 1.20 Gorgsid 50
Lo 6wl e
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U.G. DEGREE EXAMINATION - JUNE 2021
ACCOUNTING AND FINANCE

THIRD YEAR

ACCOUNTING FOR MANAGERIAL DECISION

Time : 3 Hours Maximum Marks : 75

PART -A (3 x 5 =15 Marks)

Answer any THREE questions.

1.

State the scope of management accounting.

Cueramennd seanrédlwedear euamyo weenaeni GMBILILNHS.

List out the various tools of analysis of financial statements.

Hlgbleney ojdlsemsam e Gelicugnarear LieoGoum smelgsamer UL IQuisdBe.

From the following calculate stock turnover ratio :
Trading Alc

Rs. Payments Rs.
To Opening stock 40,000 By Sales 2,00,000



To Purchases 1,00,000 By

To Carriage 10,000
To Gross profit 70,000
2,20,000

Closing
stock

20,000

2,20,000

Getreumid eSlurhiseaflelmbg sréslmLL ellhumer eldlssmss Sramms :

wrury &/@
(- (-
< TOL F&S| (HLILY 40,000 eNpLiener 2,00,000
QareTIpged 1,00,000 @m 4
CUETIG-& Fa el 10,000 sysdlmLiLy 20,000
@S emLLD 70,000
2,20,000 2,20,000
4. From the information given below calculate cash from operations :
1997 1998
Rs. Rs.
Debtors 50,000 47,000
Bills receivable 10,000 12,500
Creditors 20,000 25,000
1997 1998
Rs. Rs.
Bills payable 8,000 6,000
outstanding expenses 1,000 1,200
Prepaid expenses 800 700

UG-A-357



Accrued income 600 750

Income received in advance 300 250
Profit earned during the year - 1,30,000
&G Qar®ssiiul_(Herer eleurhisafledpbg Qeweoumiqalmng QUDD Qrréssams sarsdlLa]b.
1997 1998

€. €.
SL_aomel &6 50,000 47,000
QumsHGNw wrHmEs (K 10,000 12,500
SLATBCSTTEET 20,000 25,000
QeassIsH@GNWw wrHmEs () 8,000 6,000
QarhssiiuL Coueiguw ClFe, e 1,000 1,200
wpengal (h Qarhssiiul L dgoe|se6r 800 700
curCaueTiq LI @(THLOTETLD 600 750
(PEiTdnl_lg GBS GU(THLOTETLD 300 250
BBS A& O GUBS @eTLILD - 1,30,000

A firm is considering two projects A and B following particulars are available.

Particulars Project A Project B

Cost 1,00,000 1,00,000
Annual cash inflow 25,000 20,000
Economic life 10 years 10 years

Which project will you suggest under
3 UG-A-357



(a) Pay back period
(b) Post pay back period
(¢c) Post pay back profitability index.

e Blmeuarorer A whmibd B erem @ HLrismer smsHd Qararig whmb Spssremid
UGG LET(HSSHIETATG ©

@Il Eer S A Sl bB
SIL&HLD 1,00,000 1,00,000
et CrTés alre 25,000 20,000

QuImeTTsTy e 10 eupLiser 10 eu(pL kg6
aTibs S LsHavan Bafli Ll pgieny Qeieumi?
(=) Smbu Qegssib srevid
() d@bu dsguszib staslde GApE
(&) dmibu begusgib stasdde Ups, Ubosw oru GHE.
PART - B (4 x 15 = 60 Marks)
Answer any FOUR questions.

6. Distinguish between Management Accounting and Financial Accounting.

Cuaremrento saraslH@LD, HlFudlwed samsdnEn o arer Coumum(haemer 6lars@s.
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“Management Accounting is accounting for effective management” — Explain this
statement.

Cuerareny  samsdwe eraug ef ffw  Coorareamwssrar  sarsSud — Q&g

cursSlwgdlenar allers@s.

From the following information, you are required to prepare Balance Sheet :
(a) Current ratio—1.75

(b) Liquid ratio — 1.25

(¢) Stock turnover ratio — 9

(d) Gross profit ratio — 35%

(e)  Debt collection period — 1+ months
(f) Reserves and surplus to capital — 0.2
(g) Turnover to fixed assets — 1.2

(h) Capital gearing ratio — 0.6

(1) Fixed assets to net worth — 1.25

()  Sales for the year — Rs. 12,00,000.

1Getreumid eleurmigeaner Gament(h @ LU Blenad @Gl Suimt dguws :
(=) By eldlsn —1.75

(<) Birevw elllgd —1.25

(@) sradlmly elpuener eSlSlgd — 9 L ki,

()  Qurgg @eoru eldlgn — ep. 35

(2) sLemar QF@idgib TSD — 1 5 TsLd
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oar)

(

(er)
(er)
()
(

?)

sty B8 wpsedled — 0.2

Blenav Clamsggledlmba edlhLiemer — 1.2
epOSET @SS lldlsn — 0.6
Blepasbargdlen edlhuenen edldlgn — 1.25
sflpuener — em. 12,00,000.

The following is the Balance Sheet of a company as on 31st March:

Liabilities Rs. Assets Rs.
Share capital 2,00,000 Land and
Profit and building 1,40,000
Loss Ale 30,000 Plant and
General reserve 40,000 machinery 3,50,000
12% debentures 4,20,000 Stock 2,00,000
Liabilities Rs. Assets Rs.
Sundry creditors  1,00,000 Sundry
Bills payable 50,000 debtors 1,00,000
Bills
receivable 10,000
Cash at bank 40,000
8,40,000 8,40,000
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Calculate :

(a) Current Ratio

(b) Quick Ratio

(¢) Inventory to Working Capital
(d) Debt Equity Ratio.

@ Bimeueansslen 31 wrirs Codlasrar @ muLblancd @il eareumLomm) :

Qurmitiyger 1. QFTdg|daer €.
LI CPQOSETLD 2,00,000 fleowd wmmib
QT BL_L_ SH6mTd S 30,000 &g 1d 1,40,000
Qurg STy 40,000 Qumrdl wHmiIbd
12% sL_aLigSrid 4,20,000 QuibSlrid 3,50,000
upue sLatpCsrr  1,00,000 srédmLiy 2,00,000
QurmitiLger 1. QFTdg|da6T €.
QesaisnElw LI
LrHmIFEL(H 50,000 sLerreflser 1,00,000
curellH@fiw
wrHmEEL(H 10,000
cumigludléd o emer
QyrésD 40,000
8,40,000 8,40,000
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SaTES (S :
(=1) priy edsib

(=) eflenray cllélsd

(8) &r8dmLe el (perm eLpOSELD

() yo-osl Qurpilinger e9lsLb.

The following is the comparative balance sheet of Bharathi Ltd., as on 30t June 2011
and 30t June 2012.

Balance Sheet

Liabilities 2011 2012 Assets 2011 2012
Rs. Rs. Rs. Rs.

Share Goodwill 24,000 20,000

capital 1,80,000 2,00,000 Buildings 80,000 72,000

Resource Machinery 74,000 72,000

fund 28,000 36,000 Investments 20,000 22,000

Liabilities 2011 2012 Assets 2011 2012
Rs. Rs. Rs. Rs.

Pand L Inventories 60,000 50,800

account 39,000 24,000 Debtors 40,000 44,400

Trade Cash 13,200 30,400

creditors 16,000 10,800

Bank

overdraft 12,400 2,600

Provision

for tax 32,000 34,000

Provision
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for bad
debts 3,800 4,200
3,11,200 3,11,600 3,11,200 3,11,600

Additional information :

(a) Depreciation charged on machinery
Rs. 10,000 and on building Rs. 8,000.

(b) Investments sold during the year Rs. 3,000.
(¢) Rs. 15,000 dividend paid during the year 2012.
(d) Tax paid during the year Rs. 30,000.
Prepare funds flow statement for the year ended June 2012.

urrdl SBlEL L iger eg®er 30, 2011 wopmid e 30, 2012-yib ypa@mhisaien G HLL bl

GDOILIL&EET LAl6mel (heuemaumLD.

@ muLblenevd @mllLser
Qurmiysear 2011 2012 Qerggisear 2011 2012
- - - -
Uk wge 1,80,000 2,00,000 pp@uwit 24,000 20,000
Qurg sriy 28,000 36,000 s 1qL_1b 80,000 72,000
@eomu BLL @updrd 74,000 72,000
5/ 39,000 24,000 wgeHsar 20,000 22,000
sLatpCsmi 16,000 10,800 gr&&lmLiLy 60,000 50,800
ekl sLammaflger 40,000 44,400
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Geveuen Qur&sibd 13,200 30,400

ubm 12,400 2,600
GU(BLOTET Guil
@858 32,000 34,000
DWIGSHL 6T
@858 3,800 4,200
3,11,200 3,11,600 3,11,200 3,11,600

& (HSE) HHOUCSET :
(o) Qupdrsdern Bg en. 10,000-1b wpmib sigL_gdler g ep. 8,000-1b Cauiwmend saréd (Hs.
(<) @QBs weH PSS (HiseT allpLienar ¢m. 3,000.

(@) umBsTETWD em. 15,000 Qb3 e (h
Ceausdwg).

() eugmorer aufl am. 30,000 @bs ey Qeausdlug. sgOer 2012-1b e QmiSlssTer bl
BLLTL L D& SWTT&se]| .

The expenses for budgeted production of 10,000 units in a factory are furnished below :

Per Unit Rs.
Material 70
Labour 25
Variable overhead 20
Fixed overheads (Rs. 1,00,000) 10
Variable expenses (Direct) 5
Selling expenses (10% fixed) 13

10 UG-A-357



Distribution expenses (20% fixed) 7

Administration expenses

Total cost per unit 155

Prepare a budget of production :
(a) 8000 units
(b) 6000 units

(¢) Indicate cost per unit at both the levels. Assume that administrative expenses are
fixed for levels of all production.

@ dsrnsrenauien 10,000 Se@ser 2 pusd dews bl nul L Qeweyser 6o momm)

ST AVE e
ep LG LIm(meT 70
Fn 60l 25
rmib Cuonbgmeser 20
Hleneowirer Gomawe|sar (em. 1,00,000) 10
Crirps rmibd CFae &HeT 5
elpuemers Qgaweyser (em. 10 Hleneowireang)) 13

QULPEIGESED DFwe e (m. 20 TmIb Semenid 2 el ig)) 7

Blireuras Qaaeser 5

155

Cup@dUdl L eleurmigamars Qaram(® 2 BUSHS Sl Llguimed SWThdbses.
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(=1) 8,000 jeo@ser
(<4,) 6,000 je@ser
(@) Qm Hamosafld 9,68 gl @i AW G L& e &l igé ST (hs.
erever Blenavselgld HliTeurss Hgwe &eT Hlanewimen eemmrs sHsLILIHEDS).
12. A company is considering to expand production.
It can go in either for an automatic machine casting Rs. 2,24,000 with an estimated life

of 5.5 years or an ordinary machine costing Rs. 60,000 having an estimated life of 8
years. The annual sales and costs are estimated as follows:

Automatic Ordinary
Machine Machine
Rs. Rs.
Sales 1,50,000 1,50,000
Costs :
Materials 50,000 50,000
Labour 12,000 60,000
Variable overheads 24,000 20,000

Compute the comparative profitability proposal under the pay back method and return
on investment method. Explain the results.

@ Bmob, searg 2 hHusdullenear Flswrss smIlwyererg. 5.5 eUIBLBISET DpU|ET ST LPETET
1. 2,24,000 6T et QuiBSTDd S|DOG
8 aumLid ujer sraperer ¢p. 60,000 wHlyerer grgmyeanr @Qubsrd — @eunmled gCsaib
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arhlenar eUTBIGaSHE Wibeugss Ceaiar®ib. eumLIBIr edlbumer, OFwe| iL&&D

\Gletreumomm) :
et FTSITIT 6T
Quipdlrd 5. GuibSlrd .
eflHLIeneT 1,50,000 1,50,000
&5 Fve ST :
epeLIGlLmmeT 50,000 50,000
vl wimer 12,000 60,000
wrmu®b Conblgae|ser 24,000 20,000
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